7"02

R"wIn T

X7N2 X232 N20n
0°N27 NPTR 279

'R P
7 — .10
7"vywn nav "
© Yecheskel Folger 2014
non



a7 T Sy Ao PSR S TRRTPROP 4
pialqimialal ot im By K o ST 5
pEir L Al Gy R v ST U PO PPRROPROTRPUP 5
1 1m I PP PU S PPPRPOPPRR 6
PR abra I Sy L o ST RR PP OPROTRPUP 6
TNV ROR 7"7N ="K POM 17192 ROW FIRTTAT ROI0 ceiiiieeirieiiee s ereesree e sreseressaeesnveesraeanneeas 7
.02 972 7NV ROR 73"70 -2 P91 1102 ROW TIRTINT ROAID eeieiriiieieireesreesresseessressvessvessseeeas 10
pimii7Ay S o) By i 1 B 'S vl e e 2 U 13
1o 1 S OO S TP PR OPPRURPPRRPPI 14
pr b ra I o Sy e o ST 14
1) ST Tt e R o RSO STRR PO 14
11 2 O UPOPPEPPRR 14
miaral bRt bat B B on o) o) o O STROP PP 14
2 A 2 SO SO PRSP 16
bRby NI B eI ah iy e e B 05 koo o SRS R PR 16
NOTIAP IRD 73"TN — "R P NOTINN IRDT RONID it sbe e b sre e 16
paiahin} S ShtplaYa s M o I Welv) s 15 o K A TaT7 00 B Lo 19
ERR 172 a kiAot G n s Gy R o SRRSO PERURRUR PP 20
iz 7ialr iyt Ty i it Sy R o EE USROS 21
Exgmim Rin T i R o 21
S T 22
patom I} ey M O o 2 ) o U 22
e finin i vl e R 7 o DS RSPRRO 22
arfoly Bmim i ton i b By L o DU PPRRPRN 23
2 T 25
BT i B i o e 0 SRS 25
Rl A lpT ol T Sy A o RO 27
haimtaTo I (et vl e R o SRS 28
b2 T 28
AR Mol 2 S T L o BSOSO OPRPRRP 28
b2 ORI 28
73 iy o n o K7 OSSO OPPPPPPURRN 28
R pr ol LR R o B R o FO SRR 32
iz PO OO UROSORPPRPR 34
privalm iz el n T by iy e o E RSP URR 34
pyivalmLi7Z0m kb x bty fvin ) Ry Ao 36
2 DT 36



i PO o s L o WO STORRRRRRRTR 38
arii72et ol Hn K B M 74 TR 39
R SRR 39
kil yvaty e bWakabaTon By B« Rn 7 SRS SRRSO 39
172k 0l By K o F OO RTRPRRRRRRTR 40
A OSSOSO PR 40
ety B ko b s B o FEUO OO RUTUPRRURRRTR 40
R DD TR 1T T ettt ettt ettt e et e e e —teeee e et e e ———teeeeeeeaae——————aaaaaaaaaa 41
Rl SRR 42
PR RN R va R R o [T 42
aXv7iwd iR b L Ty K o TSRO RO RRRRRRTRRRR 43
i ol kim b BRI i Fata B K o FUUUUU OO S TR RUTOPPPUPRRRR 45
L T 46
TTT 30 T R ettt ettt et e e e et et ettt e e e et e e e —eeeeeeeeeee——e———teeeeeaeaaea———eaeteeeaeaaa———ateaeeeraaa 46
I o Ll B L o TR TR TRTORPRRRRRTR 46
iR OSSPSR USSR PRSP 46
) 7 T T T ettt et e e ettt e e ettt e e e et e e —teeeee et aa e ———teteeeeeaaa————aaaaeaaaaan 46
Fah S i oY By L o FE TSP U TR TOPPPPPRRTR 47
(7l K> Rie byl i o [ o 1o o Vo DR OO TR TRTOPPRORRRTR 47
T2 )T ettt et ettt et e et e et e et e et e e be e be et e eheebeehteahe e beeateeheeateeAte b e e beenteaheebeebeereeabeenteeaeeareereenrenns 49
R quRii7£> Rl R tals by U Ba M 17 T 49
BYRA o mly (a 22T LREoN s B o K74 WO OO U R TOPPUUPRRTR 50
1012 i T 50
el ' n ko Kl Rby Bl ok I o in Ve by Al i7p 2 onih Wy Ky B e 74 KOOSR 50
1ol 2 SRR 57
Nyram ISl abiizzaliein e Ko i K /o EUUUUUO OO URR R TOPPPUPRRRR 57
ahln T ki K 4 oy R o 57
SRS 58
T A ki ' 1o s R o T 58
RIT D178 RDT IROR 71T ittt ettt ettt e et sbe et e e e e s beebeentesbeereenee e 58
T2 ST 60
ool iRk s W K B L 720 DR T TR TOPPPPPRRUR 60
pARmTaln I Ry R (e M 7 T 60
3 SRR 60
I R T D) ettt e ettt e e ettt e e e e et e e ———teeeee et ea e ———teeeeeeeaae i ————aaeaeaaaaaa 60



ppiukodiJ Rl G L R R 74 IO PRSPPI 62
a1 ST PPPPPOPPRR 63
T 232 070037 71T O 2WM ciiie ittt 63
A8 e o PSPPI 63
OSSPSR PPRRPPRTRTPRN 64
A v72n T B ) n T o L7y R o PP RPRPP 64
aRiYailp RSk Vaty iy n 720y A DSOS 65
b SRR POPPRR 68
pEr el ARl Al L S e e 7 ST RPR 68
Aiziriokira by B o MmO SRS OPRPRRTO 69
gt} o e o PSPPI 69
BV SRS TPSP 69
" TIW 71T DIDDMN ettt ettt ettt h et e b e b e e et et et st nreereereens 69
Rl Ak A b Ty B 35 o o) o SO PR RUROPOPROPON 70
121 I PR 72
EE 7y e o R 17 PR RPR PP 72
DRIDW T2 72070 RIR 7T ettt sttt st st e st e s aa b et et e tesresbesreerean 74
1 T2 O RPUPPPPRPPRR 74
s Taln k74 ) By Ry B a K 7 OSSPSR 74
N QT

D'wTn "2 0" TN

55w 12 R TANR W2 RNODONT NTAM2 JI9ANRT KT "0 29 ' Ta

WTIT B2 NIV TIPYRS 2WTR A2 P RONT TN W2 DA XNOSON D

TAR WA A1 DTAT DRYAWS "9 P9 2030 7R 2''RY 1ApRTD NONN YN

FYTT KD TIWRNAR T MMRT RNODORY P70 M7 KRDT NI 2XI1NN9)
TP'NTY SRR KD TN

1) nwn

a) “xynw» ' says for npin there needs to be three m>°ox
2) Xmxat %97

a) “xynw ' holds that m>°ox of "kvir 870" — for example three m?°ax of mp-° that
are each 21 in 7Rk w1 — don’t count towards 1P



3) xmxat:mo

a) “xynw» " holds there is a mprn for xnooox if "n° XnHn2 %5 ®NPn 79IR"
4) mooin

a) TP

1) mMdon is 7xpn the words of the X3 to read this way: X" 71X wW7n2 RNOOOR"
n
P

ii) R"wnnn explains that mooin means that a2 aptn 817 7R W2 2730 XNOHOR"
"NANR YN W 95 N0 7IPYWI W

b) xwp
i)  Why are m?»x of mp~ different from m>°5x of xnooox
C) y™n

i) 9Rvaw> " means that three m>°ox of mpa° don’t count as aprn if the P
wasn’t 711 the first 770X or if he wasn’t 7xp the third 7%°0K

ii) at :v> "7 the X713 deals with three n7°ox of Xnoosoxk where the porn was v
and 1x1p each 797oR

INXIAN NX 01D n"1Nn

257 RDY 12 IR YR 1R "D POR AR XM 1AM 1190 "D NN 210 17''7a
P2A2 77 D 5RO 5oy "D TIw SMWA T2 TP "IN "D INDUID Mt
19 ''mY 9mNa INNIAN DIDY 2R NP DID ITT TV MINDY J0°12 wIpEM
1) nawn as explained by "
a) YRyPw
i) 2X2I¥™P DX DI VW2 NPT DX PO WD (02193 W 1) INRIAN DX 01D
i) npmren

b) The mawn uses this order to show that for Sxynw» "3 there can be a apmn in one year
beginning in " wn

2) mooin as explained by x"wann

a) it would be more nanon for the awn to follow the order of the different o»wa for
each growing season that starts with 77 in nwn

b) so that »n°r pon in vaw would be mentioned first then 1x»p» 015 in ax and finally
RN 013 i WN
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ROMDT ORTIT WD %M 77 90D 1T BMoy "D RN WYY XN
TART INPRD RUIR PIMANR NI TWHRAT NP2 UplT RO RTIRONT
"7 VDAY N2 RIN 7R 9" RITW RN 99907 170RY ROIN STIVMRD
"% 1ORIT 79D RDINT AN RDY TYVAT N AT KON ARD 7T KD X477
ROW AR TV N7 TIAD K237 NININT 'AAT DI AR KDY X237 NINANT
2N2Y 25WOH IRM NPT MIAI KD 90 RTIADN TMRPTD NN IOTY "2y
RN S"YT MY VW NI A2 PIANON M1 RT2X ITIVD 1 7' aRT B

19'1PY 1T WRROR 7D 2710 MDD IR KDY 1D M2aYS prmn T
1) xm

a) "M

i) TVVAT W DO " RO HPTH'? IR DR PAY — SRYNWY " — RWVIR 930 Snyaw

il) 7170 °n1°07 T3 NPIa Y opY an NP Y PRI MIMAL A AAW 1% TYNAnT MW R
P12 MWI2 79 R1R2°P1 191 MW 72 P91 P N7N 79987

b) xwp
i) "MwN2 KNP RS NP2 7w TY N1 000 2900 RY DOV A TY TN MW 0 0K
c) y™n
i) 22WY Rn A1 KD 90 TR TYW M0 NI A 20 ani RN O
i) “Mmwn2 7% Rn™p 1w N0 a9IRT 10 RO
2) mwnand X at .70 Rpp X232
a) mwn
1) D7 227U TN TR
b) X°wa'X by the xna
i) K723 7TYRY IR KTIN OTYRD R
i) Relevant o°v9»o of this x°y2°x are discussed below
3) mooin as explained by x"wann
a) First xwp
i) Since XwX *377 say outright that mimea1 '3 maaw 1195 the 2w becomes a 7vn
i) Why doesn’t the X3 derive from xw1x °5717 that the 17 is 870 >R
b) 10 to the first xowp



i) The w2k can only be vws'» by a Rin
i) now
(1) Dxynws " who is XwIR °3237 and is a Xan said only the words "7yvan wn"
and it’s 131 "1 who is an 81nx who explains 121 737 W on
(2) and
(@) although it’s clear from the words of 711> "1 that the 17 is X0 7K
(b) it’s still possible that Sxynw° "1 holds X123 *7wRS
c) Second xwp
i) How can any anK7 181 hold X723 *7w°R

ii) the first 7x N7 to Y2 is after the first anva1 so after three mnas the ya had only
two mxani — not three

d) yrento the second xwp

i) Just as we said earlier for 7vvan 1w that [a3 8D 93 77RY 799 7057 NIMAL '3 11 von"
"ohw? R

i) We can say also that X723 *7°vX? in the sense that the x723 is a 7y after three
MRIN7T but can’t be o%wn until there’s a na1 after the third 7xan7

e) vrnof % wo 1w to the first xowp
i) X723 >7T°KR? doesn’t mean that a W becomes a 7v1n by mxni of the Hva

ii) Instead x12x >73°K% means that 2wi1 Hva doesn’t pay 07w pra unless he was
7M1 to be amw his " after each of three mmeaa

nNnyn X8 2"TN -'X P70 M9 X7W ARNNT X210

50w "o PR 98 DY R IPIT RIN KDY KPP 1790 99T "1 npn KPR ''Ta
27519 9 NORT 9w DY MWD JR1AT DS IR WD PR TINDD
93aRT RDTD J2PD 79D V' DY A2Y PN RN KUP 790 N9 IRAT 300
ARTIT 29 FINTIY PRI NN INFAT RN RPT DY 'R Y2 IR R
TIRDY FIPIN RIN IR RN KRDT DT KON WD X2OD 1aART KOD
9977 N0 RITTTIN N7 ONDIND NI OR B'RT MRPTR V''DD AR vYa
BRYARS DT 2N D RO T 1ARP R X7 DaAR 12 IR PUnRY
MW TMAT KON KT VW NIIIT MW IND MDIDR A2 APTIT KO NP
SR IR KD MU DR KD T MR 2B ROPR TWDRT 1190 TYINT
BRUAWS M 2"'YT7 RDN 19102 R27T AR ARP VY IIORM 2''RT 19 770% IR
W'as D W HISRT TV SIND RO LW NUMwh 12 INAR Al
R7I%N ARP K27 972975 39 DORT KPR 220 9521 nanvnan a02 §''anan
1D MR P IRD ROIT 212 J120% 1APDT N2T902 MaAR MMRPTY RO



NN TP WIYRIWD RDT IR 19102 RO 7RI RN RDT INRAR PO
TR IR ORTIT PRI D RIN KD 1152 RO IRARD K9P D997 3190 TR
SRTY IR 1APR 'OINT WD MITROR Y POTTan v1Db Rab NN TOva Nab
RUTY 27 RN NN RN KDT DR VY2 IR0 TIDNRD K27 N1 "7
N2777 KPR 12 D7D IR RN RDT 70N 2157 TYIAT "R K92 1anow
N® 1102 RORT K277 RORIT 700D 799 RAOI TV WA 79 [T 10D
SIPIIT DWaR N2 SINART WRR AT WORT ATYRT 2n0w NI 0T 0
ROW 2791227 ROMIT 2R NONRIT VOW D AR 21PN ARTVIN

TPIYTY T KD AN IR RO KD 11Da
1) First anTpn — R

i) 9xvaw> " derives from 7yvan w that aprn &0 m%ox non if the wwn isn’t
nmn before the end of these Mm% ox

b) xwp
i) For 7vwan 7w there needs to have been nixan; to the 12192 Wi Hva
ii) So for npn also the 17 should be that axma *17°n X2 1192 KW 8D

C) y™n
i) ™% n°X X72n 7120 and there’s a 91p even for a axnny that’s 17192 ROW

2) Second nnTpi — qwni of the xna at .vd A7

a) 121 disagree with Sxvnaw» ' on two points
i) 1P requires ovaw ' rather than nY2°oK "
il) and the nprn 17 of o°aw '3 isn’t derived from 7vvan 2w but is derived X701

b) There are two possible mn2o — both set out by X327 — on which 1127 base 'x npim
aghii

i) First possible X120 of 1127 — "79p"
(1) If the 7wwvn isn’t 7op for o°aw 'y it must be that the > owns the 77w

(2) For this x1720 it’s not relevant that the p>1in hear about the axmn — it’s
enough that the “y-vn tell o7y that he’s 7°9p

(3) »ax doesn’t accept this X120 for a reason not relevant here
ii) Final X720 of 1127 as explained by X2 — 277 *3w non
(1) 27377 R 50 WK 7T 1PN 2NN
C) X°wp by »ax to the X120 of 17711 *3w Non

i) 1192 XYW nxnn shouldn’t count as a nxnn because the po1nn can say n°mn °X
WRIVW RIVITINA 7T ORDIND

d) yynof X2



i) "% X X721 7120 and there’s a 9P even 17192 ROW
3) "wn and mooin and 1"2n7 as explained by R"wann
a) We’ve established that Pxynw» "1 agrees that nxnn needs X
b) It follows that also for Hxrvnw> "

1) the purpose of nxnn is the second &720 of X271 — to be 2°n the P> to hold
his 2uw beyond the end of three m?°ox

i) since
(1) if the purpose of nxmn is to reflect that the v is 19op

(2) %% wouldn’t be relevant and the same as we said for »»ax it would be
enough that the avavn tell o°7y that he’s 7°9p

4) >"wand moon at .vd A7
i) Since »ax quotes the p>1in as complaining *RAYWwa RI777172 K117 ORDIN NNA K

il) it’s obvious both to *"w" and to mooin at .v> 77 that the x°*wp of »ax is that the
17192 KW IRmA that has no 9 ought to be ignored so that the npr is a valid
TPt despite the nxmn

5) "wn and mooin — k2 of the xwp of the Xna to DRvnw» " at :nd 7
a) °"wnand mooin agree that the x*wp of the X na is that
i) Since axmM X177 XY 102 KOWw 7R because the poia won’t learn of the axnn
i) The nxmn is useless so there ought to be no Pt if the Avawn isn’t MmN
6) nmoon at anyn XOX "7 on .vd A7 as explained by X"wAnn
a) xwp of "

i) Why is it that if axmn &7 X7 1192 ROW nXnn the Xna assumes in its Xwp to "
Sxvnw» that there’s no 1pm while »>2ax in his ®°wp to 13127 assumes that the result
is that there is npm

b) v

i) The xwp of »»ax applies where the 2y1v» and the p>1n are in the same city and
in that case if nxnn X7 8D 17192 ROW Axnn the wawn must go to the prnn and
make a 1192 X — and if he doesn’t make the 1192 X there is a npmn

ii) The xwp to Hxvnw° ' applies where the 2y-vn is in a different city and in that
case if axmn 817 8D 17192 Kow nAxnn the 9y i needn’t go to the city of the p*1rn
to make a 192 nxrn — and in fact if he makes no nxnn altogether there is still
no mpTn

7) R"wann
a) ToRw



i) Why doesn’t mooin say that the x>wp to Pxynw» ' applies where the 2vav» and
the po1n are in the same city and there’s a np if the 9y yn isn’t 12192 nnn of
the pornn

b) nawn

i) Because the x*wp of the x7nax to Hxynw "1 doesn’t say that the result comes
about because of a complaint by > 1nn that *xoaxa nonn oK

ii) So it’s 12non that the X ma assumes that Sxvnaws " deals with where the yayn
is in a different city and that’s why there’s no 7pm if X177 X% 17192 KW Axnn
R gtal

8) Twnn of X"wn
a) Nwp

i) Why in fact doesn’t the X7na ask its xwp to Rynw» "y in a case of nnx 2y and
where the p>1in complains that n°nn & — with the result that there is a npim if
TR isn’t P19 MmN

b) v n

i) It’s to answer this x>wp that n1voIn says at the end of the m2°7 that 1w X5
TVINT NW 2 °2°T 119 RIR 1312717 R2OOK TOID7D IRAN RN RDT TIDM7 20 7 79070
1 TI9N% DY Rl

i) Meaning
(1) We prefer to ask that because of the xmy> of 1192 X5w there be no P

the same as there’s no 73 npin for 7vmn M if there was no 17102 X7y of
MW Hya

c) wwp

i) But the purpose of the nxnn is to be Svan the n9°ox s npin of the porma while
the purpose of the ix7v:7 is to bring about 7y npi

d) yrn

i) Still the end result of the Xy of 192 X>w is the same — there is no v npin
and there’s no 7 of M2°oK '

QT2 ANYN X7X 2" TN -2 770 17192 X7¥ ARNNT X210
.0d

RO%7 KD INAR RO RPT 1190 K27 10 700 KON 77172 [R 7R v 7]
SRYT IR RPIWAT RGN TAPD 79 997 Do Iaph nomT> "o amn
TINR Ao 191 2'awn D w'MYY APt RN RY INAR RN RDT RO
TINPTIR POOR RYPT XN20 T3 299 2''RY "1 STITR 7IT PAINRR RN0N
TN RO RDT 921 DR Y2 2R 10 7709 NOR RN 7020 RS RnwsT
POTITAM 159 T2 RI2D TINR IR NITT WA TINDD WP IN 7RI KRNI XD

10



N92077 2919% R2TTR N7 19 MY "% 0 KPR RO "D nInnow 3
105 Rah TIRT MM 30 NOR INAR TN KD 19102 ROW INART KDWY
A1 K27 71712 902012 PPN PRT R RTINON 1P B0 2T pornan
7Y VAT W TR TN RIT ONTT 11207 R2WWR DR 957 b vya
W'Y "D TINSITR 20095 1'72 IARD ODIA ' R'™AD R PIDa Raw
N7 DMK VYR FTVTR STUTIR WV AR PR RO AT W P
STITINT RAPY N7 KD X297 B RN207 NN DD RIT TV 9IAD 70N
ROR PR 2105 RaD TR IR IRTAT R KDT IR RN KD 0w
W ' 2wa '0INT W'D BNAR TTIR NYRR TN IRITT 2R NRYYT
FINRTIAMTT N27 1IDRT 1190 3129 192 9'"1% 72 1P K2 INTIT 12D NN
STV TR NN VYA 2R PIAN S1D2 JINTAN Y2 PN nynea
PIDRT INMD NITT N2 IN7T 7799 NI9T ORTY AR DaAR 11D FINAAT Y2 oM
FYIAT ROW 1D P17° AR BRI 19192 IRTAT P2 KD 90 DR K027 Than
"PaT 219 BRI NAR P2 'R 1D 0N 'R0 PR 1T IRmRT
DaR IR PUTAY PONT RO 2WR RPIT DR VY2 17 1102 INART

22T MITROR 1 RaD XK ORTY DNONN Y
1) nnpn

a) The prior m2°7 established that >"= in this maoin at .v3 77 holds for »ax and X2
that if xmn 817 82 1192 ROW ARM7

i) The 9y7yn needn’t go to NANX 7°Y to be 1192 1M of the primn

i) Nor need the qyavn be 7mn in his own =y since the °1 won’t learn of the
TR anyway

iii) And there is no npin even if the 2y2y»n makes no axnn» at all
2) X"wnon part 1
a) There are several nrx1 to both

1) the 77p1 that where a nxmn is useless there is no api if the qyayn makes no
nxnn at all

i) And the related n7p1 that there is no 1P and the poimn is ooon if the qvawn is
in a place where the 1117 isn’t heard

b) First "x1—the x>0 of 77 o7 at i a7
i) mwn

(1) 321 say there is no st in 2°931 777 while 7700 ' appears to hold that
there is a apm if the 9y isn’t 1192 7mn of the porn

(2) both 3327 and 770 ' agree that there is apim in 370 917
i) R

11



c)

(1) 9 12 xar " says that if 1327 were to hold that axnn 827 8D 12192 ROW AR
they’d say there’s no 1Pt even in 777" a7 — and this proves if a axnn is
useless there is no nprn even if the 2yavn makes no nxnn at all

(2) nm " appears to hold that axma 8771 RS 1192 XoWw xma and that as a result
there is a prn if the “yvn isn’t 17192 7 of the o1 — further o°vad of the
"o w of 717 ' follow below and also at .v> a7

Second X1

i) The x>0 of %72 Xpw on .5 77 as explained by x"awA teaches that there is no
T if the 2yyn was in a place where mmx»n mw Pr and the v vn didn’t
hear about the 7P and wasn’t 7m0

3) X"wnn part 2

a)

Xowp

i) but from where does " derive that if 7R 817 X7 1192 XoWw 78 the ywn in
an nanR 7%y doesn’t need to be 1192 i of the 9yayn — the same as is 77X
required by 777 '

b) first "X to the xwp

d)

i) " himself says at 7712 °0212 PP PR "7 MOOIN at :n? 7 that 21 agrees with
77 " that it’s only a 7112 who needn’t be 17192 7min of a prma if Xow axmn
TR R KD 17192

Second & to the ®wp — based on the x°x10 of 77173°1 777> mentioned earlier
i) °"™saysin 2 "7 on .vh a7 that

(1) %27 —whose mv>w and the mv*w of »ax we’re discussing the m»oin here —
disagrees with nn 12 &ax " and holds that both 31297 and 777> " in the
mawn say that if axma 827 8D 1192 Row axnn the 9yavn needs to be 12192 nmn
of the porn

(2) and &2 says further that 1327 and 7770 " disagree only in that 1121 say a
TPt isn’t nynwl from °93% 77 and that’s why the nprn is va while ™
77y holds a prn is nynwa from °93% 7717 and that’s why there is a npin if
aYIYn ISn’t 1192 M

Possible y17°n

i)  When mooin here says that there is no spri for nanxR 9°y what moon refers to
is where one =y is in 777 and the other is in %3 — and we’ve established that
1127 say there is no 7p in that case

e) ROD

i) Thisisapm?

i) besides we’ve established for X231 that the reason that 3127 say that there’s no
TR in N O

(1) isn’t that the 7y7¥n needn’t be 192 X235 of the P

12



(2) but because in 293 1770 the qvavn never hears of the aprn
f) xipon of R"wann

i) Inthe prior m12>7 we established that »ax at first asked x27 that 1°192 X5w nxnn?
ought not to count as a nxn» and then accepted the y17°n of &21 that &72n 7720
™5 R and as a result xR X0 17192 ROW ARAN

i) " in mdoIn doesn’t explain the nv*w of X217 but instead explains the nvw of
”:N

iii) Now
(1) mooIn holds that the X720 of % n°k &12n 77an — and the resulting 17 that
TR RO 1192 ROW RN — excuses the avawn from making a vina axnn and

there is no rprm even if the p1nn proves that he never heard a nxnn that the
Tvavn made 1192 Row

(2) And from this it’s 12n0n that

(@) In the x3nxk i of »ax when he didn’t realize that % n°X 17721 7127 and
thought that xa1 is forced to hold that axmn 827 RS 1192 ROW IR

(b) »»ax was only one degree stricter against the 2yyn» to require him to be
1192 M if the 9y wyn and the 1 were in the same 9°v but not so
strict as to 0072equire him to be 192 mn even where the 2y yn was
in an nanx Y

1AW T'X 721 N2V AXYY XN7 T A" TN

"2 R'"Y NBAN DY IR ORP T WY 0102 RAPTY "D I3V KDY 7''7a
IN T YPANTRY OPOAT RWTA IR NUNR K'Y nRAN RPIT OIRDY B B'oy
19''™Y NvaT AN YW WA

TRV MRPTI R'OY "D 200w '3 NPt DY 1920M "2 AR anT Py a1 7''Ra
STT0 RDINT QMW "33 WD R AR IR apmm ahwh p''n ''ap man
1H'"PY T2 WY KDY 72 WY

NPT 707 23 B'"oY "D MY MIwa RN 1YY 29 1702 19 7''Ra
M27 7797 IR IO AR Y NTIPTRY Y nawa 2vn0T M Y niwat nom
'™y 2 moneea '

TR [20wTR] 11T KRR 10 2012 A R R RO A1 N0TRT T 7''R2
NIV 29NDD PTIR W 9TRMD 77 95D I RO 2WPH wN By "1
32 5199 N30T DRYARS M PIDRDY 20T 7' PO 201w RRR PO KD 9D

19 ''mY PRI 32057 198 191 NIPUIEN

13



.00 OT

Anyn X7x 21N
See nvn XPX 71"7n0 at "2 Pn of the X210 of 17192 XYW nRmn at 1> 77

NAVIT N X 2" Th

TR BB YT 7T RY RUTR TR WOMSR RRDTT "D RWI M MmN 7''72
NR 2NN WOTS0 KD FODIA WDRIR 210R RN 5oy 1D N2 1NIN2 2017
NOPNT N2Y AR RV T RNDH RPIRD TP TIIIIY MWDK 2ITY K92
SRITR S1ANTIA T R WNYNT WD WO N7 OR RNWTT NOT NYAR a0

b A AR P

0D T

M7 "7 amn 1" nivoin

"R RNDIAT RWIND BPIT 238 KOX M7V 178 2" 7'Ra [2 7y v n7]
9=y 7' TaeB ax NP P'oy "D YL
1) mwn
a) 1Y Orn DY wOw o°'nan npin
2) X
a) Nwp
i) how does the p>mn of a n°a prove that he lived there at night as well as by day
b) yyn of X2

i) He brings o>7v who say they rented the n>a from the > and lived there day
and night

c) xwp of a2

i) The o7y are m7va ¥ya1 because they presumably paid &n°a 2ax to the p*rn and
if the 2y9vn is 701 they’ll need to pay Xn°2 73X again to the qvavn

d) xawwon
i) "mawv “navo R°2°521 RPN 1w 0PN 2 77 Y% OTIN0RY TR0 2N 10D R Y XY
3) mooin
a) nvw of "1 as explained by X"wAnn
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4)

5)

6)

b)

1) RV 9% means to be yonn the xowp of 7> 27 by saying that the o>7v aren’t
1y because they no longer live in the n°a so they won’t need to pay future
XN°2 73X to the o1 or to the "y yn

Xowp to the noow of i

1) They’re still y21 because if qvavn is 1911 they’ll need to pay past Xn°2 7aK to
the “y9wn

laRb
i) They have no 17¥°31 to be apwn to avoid paying past Xn°a 7ax to the qwawn
il) Because if they’re 7pwn they could have achieved the same result

(1) by saying that they were never 2>7 in the n°a at all

(2) and the 2y7y» won’t be w°ran them because he doesn’t know that they
were 17 in the n»a

X" at R N R '

a)

b)

Xowp

i) Why does m»oin need to say in its y1°n for ni'" that the 2>y aren’t 1y
because the 2v1v» wouldn’t be wornon them if they say they were never 2>7 in
the n°2

ii) After all —even if the qyayn would be w°rion them they’d still be mR1 to be
95711910 and say they were never 27 in the n°2

YN

i) After 1327 were jpnn a no> naw for a 9317 7913 if the 2y yn was wonon them
they’d be 1017 with a 73w of 55771 9915 only with this n31aw so they would have
a n7v°a1to be 1y in favor of the p*1rn to avoid having to make this nyaw

Twnan of mooin

a)

b)

mew of an 11020

i) X7 n says that if the prin asked that the o°7v be 1°yn that the porin was 97
"m9P9 oo npra" ooaw ' then "3y Pnavw" in the sense that the pormn is a1
with this m7v even if the o>7v aren’t 7°¥n on every day and every night

Xwp as explained by R"wann at X0 9 R "7

i) X702 should have said n7y 1m17v instead of mavw “niyv because the point of
X7 97 is that their m7v is good enough

N

i) Because x7ur on starts by saying "770 °n»% P ox" he ends by saying “niyv
Ty

X" at b Yo mm T2

a) The xwp and yy1°n of moown apply also to the nvw of i because for i1 too the

point of X711 97 is that M7y 1M7Y and there’s no 1y M

15



o (I Bl |

2”01 TNaI X110 20 aTing 2T nivoin

1193777 2R 2N WO TR JOYaT RN 'Y 0 N7 2 T 7' T2
AW W 97 1D RN RINT 27 77N IIRT N0 yRwn o oy "o "
19"y RARD 92127 ROINR2D RI1T 27 77911 DOHT ROIT

MY H'RDT BB oY 0 AT 2ITIAY Y23 AT NI KON A7 7''N2
7977 10 KON 29w MR RS N0 IR 9" "D WA pIRTIAT ani JInT
t2'117Y 9" 2vasm 237 2 MDD YT

N1 IX? 2" TN = 'K 770 T INTT XfaIo

TYAIRD DIRW 20 2P Y102

297V Y WO AN 1"'K "2 anT 2'"awnn "o TR IRY 7''72 [R TNy B nY]
AT MIN RIT AN 2T K92 177 Doy "2 TN 2 1M 2 PN
IR ONDONRY RNIAT T2 AR Y2 ONT 1R JARI KR TR 72 07 0w
BI'RT RDWPA 7T T RO2TT INPRTT RMAT RNDM 9D UPIT RYN PN
STIT ORT N2 SN 20 MRPY KAV 7R DR 92 7T 770 NVR XM

12'17Y 7101a% 07T MR BN

1372 11D TARI 1977 RMA T 772 7 IN I 0127 07T AR YV TIT ON 7''N2
R'""2wn DY DY RIT TR IR D' "o TRW N KD MR WA ORT
M2 5192 7T VT PN NN N7 ONR 1707 N72W2T PR 01N 1anw
TR Y2 INT 1A T3 FININAT PYBD 1D 01N TR ARIRR 1000 R TR
'R AP 'OINT MN2TR RIS T2 PRI 'Y DaR atwn Thw N KD
PR DT 23 QAW A 772 PO KD aNY TMWNR NIATR ROT7T2 2" oTna
AR 2T 21N IR TN 2V DA 712 PUIITR 297V IN2 19BR 10 w10
w'ona1""e® 2RI NPT KUY 2o 2192 19 DY 19N IND 2N IR P
23 9P AORT 'R 21912 7 707 DM MR R RONX 297V W PR OR7

P71 R 2R awa R 'OINT 92T RITT2 2900 VWK NTaTa aw
1) nnpn

a) The case
1) ponn tells a 2yyn | bought this n*2 from 321%7 who bought it from you

i) Tvyn says n>7 Xp XY that the 77w was once mine and that I didn’t sell it to
you
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b) The p1

i) ywn is 7o even if the P rin completed P *xw because his pri counts as a
TIV0 7Y PRY ORI

c) Note that
1) it’s ynwn that v yn has no o°7y that the 77w was once his
ii) so that the p>1n would have been yax1 if he had said "o2wn 0727 1 RY"
2) o"awn

a) Based on the x72w of Xn>7va xnwpa 777 X177 at :x» 77 the P> would have been
7o if the i completed npsm 21w and has a7y that the 25 was &n1 71 2 17
because in that case n19% 11w every mivv the 251 could have made and the 1o
would have been jax1 based on the 1pm *aw had he been 1w that 729 nar

7MRIT | oM e Tn 27 P W
2R
3777 1AR1 7 paiahin) d el D7V ONTR | R I A9OK o"avn
TPI CIW A9OK

3) R"wamn at g WY A

a) If nprnow 7%ox the po1in would be 181 to say &n1> 717 ™2 17 7911 even without o>y
based on a w» that the 1 himself could have said P “1w "n%oK1 70°27 90

nw sR
bidid]

A922 AN
%2R Y2 ORT

e

NMRIDM A | DM W | 7 om b2 0T VamiRii
R0
777 1K1 7Nt N 7Y "NTR 1w T9OR a"awn
TP AW 99K P
MTT AN 7NIAT TR | 2TV NN KD nw 9eR KW

mnaar TR
I NN
iaisd

b) o"awn mentions o>7v only because there were o°7v in the case of xn°7°va Xxnwp on
which a"aw bases his 177

c) But note that as explained by msoin

i) Once the P was 31 at first only 7in1ar X°1%91 he can’t later add 717 2 97
Xn1 and be believed on x»1 711 2 97 based on a wn» he could have said T1°n
anrar

ii) because this counts as y1917 wn — the o> of ¥y1o1% 11 aren’t relevant here
4) mooin as explained by X"wAmn at Py T oK 782
a) X"aw"
i) A further 75017 to the case of o"awn

(1) Even where the p1in doesn’t have 7P 1w and there are o7y that the 1om
was X1 7 297
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(2) then yravv for the n1% the mavw that the 251 would have made that nnyar
731 since the 151 would have been jnx1 on this mavw with a won that he
could have said 0?wn 0°127 1 R

ARIDIM A | DM WL | 71 0m P2 T 2P W
2R
7777 JaR1 1 7n1ar 7Y NMR W 779K jalinlizg)
P10 1w 799K pm
7777 JaR1 1 7n1T R | D7V DR KD W 779K X"wAn
PIN CIw T9OR SRT 1072 TARN apm
7170 IR Y2
N1t
WD AN T 7nIaT TR 27 NMR | U A9ER R noow
2" 7o il N''2wn

b) °"1 disagrees with x"aw"

i) We can’t apply this 1°n to give ninri to the 121 when the ni1> himself is 777
that the 772 once belonged to 2y yn and wouldn’t be 20¥» the 77w if the 25w

had been 1 that 22wn 2127 17 RS

NMRIDM A | DM W | 7 om b2 0T VamiRii
2R
T 1R A prighiny i hira o7y R W 79I a"awn
PRI 1w 99K apm
7777 7RI 0 7n1AT R | D7V DR KD W 779K X"wAn
RIN 1w 99K SRT 1072 AR ]
917 MK Y2
7naar
1312 181 7 prighiny i hira o7y R W A9OR XY | X"awn noon
"7 apm
R AR 7nIar g 2TV NMR | U ISR RY by b | "9
Yo San bl noowt
N''awn

5) mooin at the beginning of the 712> as explained by X"wAin

a) If the p i was 1w at first that 730 73217 70T X°1991 and X175 waskn 117 2 17
then

i) he’d have been 1ax1 even without o>7v that x»1> 717 »2 97 because the P 1nn
himself would have had the 1°» that he could have said o%wn 2°927 11 R

i) and we would have been 712131 for the n1% the 7y that the 1om would have
said that 72 nn1ar and he would have been 1k on this mavv with the same
»on that he could have said o71wn 02727 v X5

6) X"wann
a) This is obviously a further 179017 to the 119037 of R"awA

MRIDM I | DM W | 7 m P2 0T bR
2R
T 1K1 7 prighiny iy hra %7y NR W 79I a"awn
TP AW 99K P
7 R A an1AT N | D7V DR KD W 779K X"wn
TRIN IW 99K KT 1072 AR TP
T°0 IR o2
7niar
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WM AR 1 7Nt N 7Y NTR W ARAR KD | X"awn noown
"7 pm
89 7 wn pafakin} b 7Y NMR W 779K XY Sy et | oM

Ak i TPt | X"2wn noo
1302 AR 7 N7 YR | DTV ONTR XD W A9OR K7 | 79017 RMawN
"™ SRT 1302 AR P 70

MR Y2

"7

b) And

1) since " disagrees with X"aw" where the p>mn doesn’t need to rely on a wn of
0"777% and it’s only our 71y to the 1o that relies on a wn of o7

i) it’s a 12w 9> that >4 would disagree with x"awn in this case where both the
P 1 and our mavw for the 25w rely on a wn of o"7a

nNA'AT X790 2" TN - "2 70 TN IN7T X0

M2IA5T 772 PSR 297 W9 PRT DT 12 RNaT Xo1ven 1''7a [2 TRy B 7]
2 97 DA TR ROPOYR MR KD RT3 92 9oy "D AN 21 BN
T3 AR STIT Y2 ONT 132 JARI IO ROPIYR 9557 MR 7T ONT AN 2
YIDRAY IAM FTNTT 927 MID AR MR RNWT AR PRI NIW 7ON9ONY ONaT
19" my Bayd 'oInT W't
5o 12 %% NITIAR IND DO PI0RTD IR BT 'R INAI PRI 7''N2
QITY WIYRD 7T RDT YRR OB nITIRR IRDT R '0INT 1anow g ob
M7 DA KDY DR PRART SMIR 2ITY Y0 TITT AR NN NO7 O''NY
5" RY T9TA RUTW 237 2''7 RDT 7190 217 ROR 9 DITIAR INDT Nawd
RYINT 97770 9% NN IND 2957 710057 100 YRRRT 9700 0T R RI9TA NOIBD
:2'1Y7Y DIpDTS 1D NI INI9AT KD DR N7 OTOT
1) X
a) The case
i) pon completed aptnow and is 3w to a ayayn that | bought the 77w from %0159
i) wwn says "X RIPT R0
b) The 7
1) The 9y wnis 717
2) o"awn
a) Partl
i) "RITRIPT R099" is a claim by vy that he didn’t sell the 77w to Q5m

il) the p>1rn has no o>7v that the 12 lived there at least a day and as a result the
7Pt oaw don’t avail because — as explained in the prior M2°7 —it’s a PR 7P
7Y 7Y
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3)

4)

5)

b) part2
i) note that
(1) if there were o7y that the 251 was R»1 717 2 17

(2) we’d be o for np1 all niayw the 71 could have made and since there are
7Pt 2w the 10w could have been 3 “I wasn’t ona the 7w from you —
instead | bought the ;77w from you and prm *aw “nHaxR”

X"wInn at X019on "7
a) 0"awn might also have noted that

i) If prin had been 131w from the start that the 25 had been xn1 7n 297 he’d
have been 1ax1 even without o>7v based on the 13°» he could have said T1n
P 21w PNPORI nIat

i) P> here needs o>7v that 121 was &»1° 7n 2 17 because once he said X°1991
“n1ar he can no longer say &»1 711 2 77 in reliance on a w» that he could have
said “n1a1 7°n because this counts as a ¥y1917 11 that’s not a valid 131 as
explained in the prior m2°7

nmoon
a) xwp to the nvw of o"awn that the 9vayn has no o>y that X°175 is a 721

i) Presumably the qv1via was believed that he once owned the 77w based on a
TR by prrn

ii) If so the X3 should have said that the 2yvn is 1w that
(1) "n2oar R ORIH DRI RITOTT RYIRT 2 DTN RD"
(2) the same as in the case in the prior 1127
R"wAnn at PRy 7"'R2
a) xwp to the xowp of mooin
i) Maybe o"awn says that qvavn has o>7v that the 77w belonged to him
b) y1n

i) The xwp of mooin would still apply because the x93 should have said that the
vy is W that

(1) ">npar X7 ORM DRI RITOTT RYIRT 2770 07 DX ORD"

¥ 'Y n'7OX 7aN A" TN

SONMPD YD PARI N 12 21200 w110 TeeN Ban 1772 [R TRy KD 7]
2R YAWH PIR OTIW WaT 2"awns® RwIp 7 0o 15 wna Tn aTp
ROR 97770 pa K97 0" R RLRIPT RPN 22w anow 2" 90h ban

D'y 2w A

1) x7m3 as understood by a"awn
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2)

3)

4)

a) The case
i) 3237 is the original owner of a 77w
ii) "M% is the p>rm and claims to have bought the 77w from 72187 seven years ago

iii) Mynw is 2y vn and has a qvw that says that he bought the 77w from 1218 four
years ago

b) The 7
1) the sale by 12187 to nwnw counts as a xR
i) still
(1) if »% can prove that 12ox for all seven years
(2) =17 is o because he had completed P 1w before this axnn
X713 as understood by 1wnsn w and as explained by X"wann

a) "7 is o even if »17 claims the npm »aw began seven years ago but has o>7v only
that the 731 "2 began three years ago

b) And

1) it doesn’t matter that Nv»w has a "vw that says that j21x%7 sold him the 77w
before the three years for which "% has proof of aprm “aw

ii) because we accept the mavw of 1> that the pm »aw began seven years ago
mooin as explained by x"wann

a) Why does o"awn disagree with 1w9on v and say that »17 needs a»7v that his 1w
TP began seven years ago

b) We ought to believe him wn if he were apwn he could have claimed that he
bought the 77w from nynw three years ago after wnw bought the 77w from 32189

X"wAnn

a) In fact it’s on this 1w that waon @ rely to believe »1% that he began his pr »aw
seven years ago

w7 "7 an nan ax A" Tn

FIRTIR 777 955 RO 12 1719990 K21 MIART JI907A 7720 "D 720 R 7'
JIOTIAT [DR AOMAY TR RO VAR 2D 92 77 X277 77207 2''awnen

19''™Y 97577 N2 anm X201

N21 "7k a"Tn

SNIAR DT 23 5P AR 5O "1 11n2 'R 217 'MaR bR "D XTI N2 PR 772
19 Y% RIT JARI DAR 7790 J0IPV KD JINT WITT TIAPRR KDY DR 2R
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TONIARM TP NN DR ART K27 YT ITIY MARTDY 1927 w5
19 'my BayB M1 B 'oINT WD WY TINT

N7 Q7T

AN IT 2" T NIDOIN

TIFY TR R 2TV IR IAAT 99 IR 12 N2 1Y 7172 [2 TRy KD 07
RZYO0 777 77 B2 1R TN 1D 9102 572197 22 B'op "D Bov KD 1T
B ey "y NI

N2Id 27D nnl A1 A" TN

PR PPRWOMSR PR RITT ONT NMR NITYS anm NS K117 200 An 2 ''7a

N7 X720 12 291UR 17K 997 ' INY "2 MRt NINTA 29T NN

QIDTAT MITY N7 N7 2M9TA 2R 297V "2 DY 1700 IN22 by 0 wpn

2ITY WO 19D ANT URWT 21T an1TYa ank 29mmeon PRY NN MY

2T 2OI9TA JIONW ATDY 2ITYT ININ WIS PIANI JION 257 299 anw

RDWTY 1977 22102 R X277 2aR MY 9o% 299100 'Y IRy DY PIANI IR

1357 RDPW 27V OISR 2OARI 257 DY PN 137 2921P 19) 2917
T'"'my @AY 2vup

1) &

a) X172
1) 3 DR NWUIONT 227V °N2 N

il) °192 782N T7°YM TRXY 2192 IR T 19D NINKR MTY 2237 MWD NPIRA TR 10PN
TTUM NRY

b) "% X°20 X137 270 yAm1 20
2) X in Mo
a) The case
i) @ W Y Pmnn I 0w
i) 17 DODUR IR NITY PRI0D W 1T 0210 1R DOIW IR
b) mman
1) % NPTN RN OPIRY 2N TR 0N OPINY RIVWA 11020 KD
3) mooin here
a) Xwp
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1) Why doesn’t the &7nx in m2n> say that the a°7v of the first no still retains their
nw> npin for nanR 17w and their M7y in the Avw on the X197 counts as My
nanx

4) R"wan
a) Nwp

i) moown ought to ask its X>wp on any case where 'k n> says an 1an mTy and ' no
is then v that the o>7v in 'k N> are 1Iom

b) yn

i) once there’s M7y that that 'k n> are 1171 the 2°7v in 'k n2 have no n> to be
'2 n> woron and that’s why the 2>7v in 'x na lose their maw> npri and are 9109
even for a separate m7v

i) But where
(1) "2 n> says that 'x n> was 2109 because they were o°vp or o°211p

(2) And if there was a time afterwards when it was clear that the o>7v in '® n>
were then o°7173 and not 2°217p

(3) mooin does ask why the o>7v of 'k no don’t then count at this later time as
having been w°rn the second n> and as saying that they weren’t o°1vp or
0°217p even earlier when they signed the ow

NTON 21D XA A" Th

"D% KON 7 KD K17 WITT 9ART X297 2" 9218 12 K707 292 N2 7' 72
MY R29 79 MP7 99% '0IN7 12N0w RION 7R 90D 2oy "D Nipond
2P RYT WITIT RIWOHD RPIT 1T RATARD WASNN RYT 1190 Do
HI'RY WITIT 2R RAPY M7 RTOM 290 R2ANT N7 A1 b paT ORnb
MR 217N "D N2 27 RPN DN DRI ROT WP XWp TN
t2''97Y PT7TI0T 2''D2Y 1721 "D 'oIn2 by 1
1) First nnipn
a) The case
i) MR 2w I TN NYHYI 12N
i) 7T 3w A9IRT 2770 CNMR PR TR NIW 779KT RNTART 2770 TNMK 12K
b) xa
i) Although 123%1 *7v weren’t wn>m on XN7aR and were wiom on api

i) And although they were 7°yn they were 7y on Xni1ar before they were 7°yn
on PN I

iii) Still they have no minx1 for xnax the same as they have no nminri on pn 1w
2) Second mnTpi
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a) Ry in man
i) Xan
(1) ¥1m &S 77205 DY 720300 5V N
(2) "209°1 RPT RIT MATNM RPT ROYW ORTAT 110D
(3) DUR K2 DINR RDT 72°237 O DR DITNORT RTIOK
ii) the ovv of X271 — first Nw?

(1) wr7n nywn RPX 12 77 PRI XIT WITR anY 7Y — meaning that it’s a whn that
'} N> that’s ann becomes m7y% 2100 altogether so we apply the vn only
from the time of the actual m17v on which they were ann

iii) the oyv of X271 — second 1Ww°
(1) mmp27 ®7°00 D1Wn — the o°v9» of this avw aren’t relevant here
3) mooinon 'R Ty at ™h kAt
a) Nwp

i) For the first w> of X271 on a1 that’s based on the whon that the first no
becomes 7109

i) we understand that

(1) the mwna: in the x>0 here aren’t a wy7°n because neither n3 is Y001 and
each can presumably be o>y for nanx my

(2) And that’s why X271 says that — unlike the 1>7 for nnr7 — the o>7v who in our
X*210 were 7yn for 12187 and were wnowa by the o7y of Pynw on 1w a9aK
TP are also wriowm on Xnnak even though the o°7y of 12187 were 7°¥n on
xnnax before they were 7v» on npm "

iii) But for the second 1w% of X217 it’s a X°*wp on why it is that unlike the 7 for
7177 the 227y of 12387 in our X0 are wion k on Xnaax as well as on 77°ox

b) v

i) The x>0 here that says wnan°x also for xnax follows the first w5 that holds
that the nv w of 827 in 721 is based on the wy7n of T 7

4) Twnn of the X3 here at 'a iy
a) X701 2"
i) 7T DRI MWwenont 07y ona
i) The o°7v are Ho91 and can’t be 7°¥» on any m7y at all
b) aoxw

i) Does x21 in his x 7 in this &0 on fwnon agree with x7om 21 that the o7
that were wrow are also 2100 for a%wa m7y ow

C) wNipon

1) X217 doesn’t agree with X701 27
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5) mooin at &70m7 275 RAN "7
a) Nwp

i) How can there be even a xrnx m: for the first w2 in 72w that X2 agrees
with X701 29

ii) After all for x7om 27 it’s a wy7°n for mwnam that both nn> become %05 —
where only one na becomes 7109 is relatively not a whn at all

b) v

i) The first 75 of X271 that’s based on w7 only applies to the xipon of the X
that X217 doesn’t agree with &70m7 27

6) X"wann
a) Nwp

i) But the x>nx mi1 of the X3 that X1 agrees with X70m 29 can’t fit with the
muw of 827 on nwnon for Xnnak because we’ve proved that for that v it
must be that the first 7w% of X271 based on the wi7°n of 17 is correct

b) v n

i) Must be that to answer the x*wp of mooIn in X701 275 X271 7"7 we need to rely
on other o°x17°n that MmooIn brings in 72177 and in the first P99 of 177710 that
can accept that mar7 is a wion even for x7om 2

A7 97

AN Y xal "N

PIDATD IR VT YT RAATT B "0 0" AR 7' 72 [N Ty ab n7]
927 WODD RTIADND MM o1 NOR PIRTY WM 2oy "o Bp 1hY K37
RDR FTORNRY PP NT VAT T NPT RPONRT 00NN DI 190U R3OT7 'Y
N7 I7797 MRY T RARY INARY RWT IZBA 32 IR0 127 MRy T
YI99777 SOINARY R 17121 3127 AR T RAR 2 IPIAN 70N TION)
72T ARY TR RAR W W2RT TAR TV R2ORT 31%2 Q%R NI WY PN
NRRD2 PO0RT INMADY FINAPIANR KI23 MPINY N TR N PIRT TPORI R
297V 23 ANIR PEIZN PR DIMWDT 2ITYAT 190 R''DT RIO1 whDRR MY
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1) x7ma according to the Ripon as explained by msoin
a) TR0 by e ' of a npYonn between HX%na 12 vnw " and TYoR '
i) The case
(1) An wann 7y was °won a 1o and as a result 127 n°a was 77yn the 375
(2) there was >2n 29y and we were 7 the 370
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b)

c)

(3) there was then a second 2 wan TR 7V
i) 9891332 MY 120

(1) 17 nais Anen the second woni v with the first 2>wonn 7y and wherever
there are two 77°won »7v and two 2°7010 7v we’re 12y the 1712 because of
his maw> npn

i) ryoR "
(1) we’re not 7xn two wann >7v because one 2woni 7v came before vy
>3n and the other 2>wonn 7y came afterward
TR
i)  Why was the first 1>wani X 7v necessary to be 7%y the 3735 in the first place

i) Can’t be that there was a prior 20 2¥°¥ because then the first 2woni 7
wouldn’t be enough to be 7%y the 172

iii) Can’t be that there was a prior 2019;1 X 7 because jam ' says for this xox0
that o°awn mno 2y X and presumably 7am1° ' means that an 71X can’t be 01
even where was no prior 2°wans v

W
i) In fact a prior 501971 71X 7v wouldn’t have been effective to be 77 the 375

ii) Instead there was a prior 01971 912 and a ?p that’s S0 is stronger than an 7
50197 TR and is enough to be 7 the 370

(1) The first 2>wonn 7v then came
(2) Now

(@) the a>wann 7nx v is also 7P 11 ¥173 and counts as man° as result of
the 5

(b) but the combination of the 2>wann 7% 73 and the mw> npin of the 170
is enough to treat the ,p also as 172> and to be nbyn the 17

2) X3 in Pwa noon

a)

The xan°n of 131 ' teaches that o°1wn mind vy PR even if there was no prior 7
WA TN

3) mooin

a)

Rowp

i) We established that in the mawn there was an 2°won:1 7ix before the two o7y
that were 5019

b) v n

1) That’s correct but keep in mind that we also established that the 2>woni R 7v
counts as 1773

4) X"wann
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a) Nwp part 1

i) Why in fact did the x7nx assume that 317 '3 says that o°awn nnd vy PR even
if there was no prior 2*wani 7nx 7 and the X713 was therefore forced to hold
that the initial 77797 of the 375 couldn’t be by an 01977 TR

i) when
(1) we can understand the np12rn of HR°%13 12 w127 and S1¥9R ' in the 79n
set out in the following part 2

(2) even if we assume that jam° ' holds that ooawn mino 29y P only if there
was a prior 2 wong IR v

b) x°wp part 2 — an alternate 727 on the npYoma of HX°9m3 12 Ynw 121 and TYoR "
i) The case

(1) At first there was an 01977 7nx 7v — this 7v is enough to bring about a 7777
because we now assume that o»wn» nins 23y Pr applies only if there was a
prior 2 Wwana R v

(2) Then there was an 2*wonn Tnx who prevailed over the 50197 7nx 7v based
oNn MW NP

(3) To make the next 777 there was a second 01977 71X 73 Who was 573
with the first 50197 7R 7¥ to yield the »an vy that 1am1° "3 needs once there
was an 2wans R v

(4) Finally there was a second 2 woni R 7v
ii) And explain the np17nn between arv%x ' and 2"awA as before

(1) when x"awn says 7% 7 9"y 1ovn he refers to the second 2>wann 1% v and
wherever there are two 1°wan >7v and two 2°7010 >7v we’re 7791 the 37
because of his mw> npmn

(2) rvox " disagrees because we’re not 71¥1 two °woni >y because one
came before the second o057 7% 7v and the other came afterward

C) yn
i) 21wox "y would have been %yn the 372 in this 72n
i) Because

(1) Just as 719 1 isn’t Axn the qwa *7v because an 0197 TR came after the
first 2 wonn 7R 7v and the second 2> wani InR v

(2) 21998 "1 wouldn’t be 7731 the 2109 »79 because an 2woni 7R 7 came after
the first 01977 7R 7v and before the second 501977 71X TV

"7 rron AR A" TN

27 "D RIN KD 207 N2 2RI NRWI PaR "D R jvpon 1IN ''Ta
PRAWR T AR P 5oy "D IRWI2 RIN R ORBR TN KD 29N
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297V IN2 2''IINY DRI AR 207 ONROD 2 2R ' 9N2TR anvwnp T
2I7Y IN22 ON RIN K2 INWI 207 2R w''on p''nn K97 »'RY NN KXY
;5" oY RNYIM2T RANDH WP M2INST 2521 NRWI 2''INY

1) X9 A7 R

0 M2 omn M (9p°n) Xnp RN T2 IR nwRY
(nnn)
XN X¥N XY nnRYT 7Y 2 nn7 oy 'a 'R
DRWI T2 1R
XIN K> RXN RD7 W"on | '2I82 72 MR DRWI nn7 o7y 2 fal
nn X7 Ty

2) mooin
a) Xwp to 01 M2 anm ' who says R¥n X 2°7Y 1R 2"'1RY NRWI

i) Why don’t we say that xxn for the wx because her v x nwx npri should make
us believe the o>7y who say nn &

3) X"wann

a) mooin could have made its &*wp stronger by asking it to the x»p x1n who goes
beyond "o "2 onan ' and says Xxn X9 even where nRwi1 2"'nRY N1 KR?T7 027V X2

NDNO Nj? 'NNX 2" TN

2R 12 PITITTD KON AR TR KDY 1D NoND RP RPN 7''72 [2 TRy ab 0T
7T 92 B''op 10 RRAPY WADR KPT7H 3% AINTI PRI 1D PIT IR 0w Y
AR AR AN SRR

A7 T

'TIN 9107 A"n A" TN

D920 327 R¥T PINT OTIN PWHY "D IR 71020 A" TR R TRy A0 0T
217 77T DIawa KDY 2172 KUK DRT7 9 301 K97 31907 B 9oy 1o Man
TR TR PITT ORI R2TY MAR D20 7T AYVRY ITIR PD 7772 TR KD 0

19'"mY 2172 27 IR NI RDT 190 NV 2P RITW 700 ITINT

A7 97T

A"nana n"avwn

WISRTS KPR N0 DORW TR RO KD 77''A72 2" awnna [2 Ty A 0T
SOAT 32 RO "D ORMBR R DA 1T ORI 1R "D 7T YR DY ONBR "B
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MO 1D NITY N2 AR TINRDY 121 % 7''A D PR PaR bwann
TTITR VARR 77T RWT ONT 7'"DD WP ORR 2K 1IN0 2" awnn avpy
Byab 1% IRTIT 790 KT "D YRR DY ROR 7717 KD XD MM nRoR By
2792 99U 7571 KPR 195 N0 N9OR DY ORP IR MTINT 1190 PINT AT
292 MARP ORD T 7DD YRR ARTIT 2 DOPD 51T KD 2" IRTIR
2ITY P 7T RY N0 170D X7 10 77 Dw MY ROR 2192 N1 107 97N
2P NI TR 27 IR BB T RD RIT BAN 217p TR 20 R
7T 9w DY KPR NP 217P 1RT 2R RTOM 219 J13UD KD 21 2" aws
TN 27P RUTR MARP RUTRW R 710022 5757 9 100 2T 2wn KON
STPITT N7 N27Y 92K D920 R2TRT RTOMT 27 1120 709 WP ONM WP TN
TPITT TR RTOM 27 NN20 N0 'R 23 'owng w''has a'fawanh
279 17D NITTR X297 7" AT Draw B 'O 2 w0 290 1% RDINT
n'"972 23 72INDW WD DY 29P VIIRT CTIN IOV 1NIDHY 295077 NDIA
17''5 NOT ST ROIAT NN 2PN 37 77T DYa NN T 'OINY AN
Q"2 277 WRDRTD MNODT YORW 71T 1D N7 RDT MRY RIT
ORITT R 7790 ROWT 1D 5 AT DYa 23 AR 12 1790 K0T K97 nwab
TRIRY 77T RIT ONT NINID NPIOR DY ORP KD OIRTY MRRPT OTIN ITINT 7190
STIN ITIRT 7192 799 RO AR DR 0107 KD IR NN NRIOR BY TR
RS X527 @'Y 900 23R UIORT IR 1[I0 DYDY D37 RN 0D Y WY
"SDD 272 1957 297V RYR 7777 KD N0 NDOR DY DaR YRR By KON 77
RT7017 279 779197 J197DR KD M1T9D NDIOR DY 297 wew N »''a a'awn
N7 27299 77811 190 DY R''D N1 299 71957 TR 29 9272 297 K297 0D
Y2 37T STIN TINT 192 9720 K27 MART NP 217P TR 27 PRT 132 WOR
YT ORDTONT DT AN 20TV 2IPR2 1R D'TT AR2 JARI MY TR KDY
YIOR N7 2272 39777 K720 INT RTOR 299 ;790 N0 INMR K27 A1 39003
RN3ISD T7OR2 PO0RTD RIWIT DY RIMP RIX MR W2 9RY 095K KD 0N
12'17Y 970 KD N 29TV QPR 130122 IAWDT TIADAT K2 AR RTOM AT

1) First nn7pn —xnaat 222 97
a) The case
i) 7217 says *max >w and Nynw says Nax Hw

ii) 72%7 brought o>7v that the 77w was »max %w and yynw brought o>y that 795K
TR 1w

b) The p7

i) R70m 27 says Nwnaw is 1K1 that the 77w was max >w based on 1°» he could
have said 73117 13w "n%oR) 7039271 7N
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i) X2 2K say "nR K2 07v D1pna pw o an" and ov7v are wenon the vy of
1vnw that the 77w was »mar >w

2) Second 7nTpi — R ON 'R Ty

a) XYP°7 PAw) 270V PAK 720K 217 PP

b) 51 RI2°9P RIX AR KX KT 9DV KIIP KIX MR PAR 92 °7°R 20

c) The tables set out the qwnn of this 72w for o"aw- and "1 and o190 w»

09YX 272 191 015D W NOM

1" X032

mooIM 2"aw" R"2

N3

SR 277 X723 871 D "I 0"
DY 2P TR 217

2719P TR 277 "0 NR" 100
R (00 2P IR IV R
177 217P OR 2770 XNYH RY23

9 AT K27 AT 020" 0A R
YRR MY NP DY

STR 277 11°0 YPIP2 STR 27 70N
D0 277P K123 KM ORT) 1P

PR 277 X123 X7 "I Y
NN LY PI9AY A3 RY 919
MNP DY 10 AT KD ROWIPA

a10%

DIR K123 ORAT 770 0K TR 27

DORT PR 279 Y 77 K123 R

52K K123 °KiT *770 "NPK TR 20

RAT PUPNI

ks k) "D 9OR R
ERth)
0350 2P TR VT AT AT | YRR T0DMT M1 DIRW AT NTT "ATA" AT | TR 27 DAY

999K 7Y ITANR

71 X123 ORiT 7°097 SRTN OO QVLA
5ORW M’

0 TRT

T7VIT 071 M2MPY 0T RDHT M R12°P RIRT "N9IK 777 17 1K1 Mbya oy o9 " OTIR KD X7 | 9" K701 27

237 377 VPR "aA0 TR M mvvab X7 70 %7 "V ORT 1392 70 AN 73 RO 101 K77 VPR X7 ™9

X7 9V2 R 1°1M2 AR POTY MO N7IR 7R
R?1900 P OTR AVT AT A | DTV R T 2TV DIPRA T R
°7Y ARMD 77 9¥2 DRTIAT 17 NOOR D0 277 TR 277

7Y DIPNA N M N7

STIRT 11727 NP 2237 101 XD X7 97K 217 REP YpIpT 11907 X271 AR

7Y AT 2TV IRAD 1T 9V NRTIN 7D 11 KX 10N 7 9"

Q102 1R R 277V 102 1300 STIR TIRT

o7y

iclRrnya)

3) o"awn

a) Note in the table that " says there are no o7y that X123 *xi7 was n17°9 5% and
this is why X701 27 holds that X123 *Xi7 was 1K1 to say °n?oK >7°71 *naR with a 1on
he could have said °n?ox &>

b) o"awn disagrees because it’s ynwn from the nw* of the xna that there were o>y
that X723 X7 was m11°o 791%

4) n"amono"awn as by "wHnn in bold N

71027 277 W57 [RDR] M0 7oRW 37N (RDR) X7 XY - 7"a0
707 K1 129RW 1 227V ROR NI7°977 NPOOR DV AW 00 RO XY
X777 M0 ND2IR OV 37 ARY 77 00T 70010 7 ROWY 11907 910
P10 P07 RY RNWTT TV 2IRT OR7 DIP2 7911 VPP 2V ROX 7717 K7
AR 7T HW 1D ¥ XX N 2177 777 OTR 270 0272 227V RDODT 1D
12°°777 1°91 227V 1IRMI PT DY IRTIT O CTIR CTIRT 11737 720 XA
WY WM R0 K7 RT0M 277 799 09 ORDR X7 I1°073 717 XY Pnn
2"V 1°n2N3 R 1991 PrITRY AR P2

5) X"wann
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a) 9"wann was o the 1"x7 to show that the 11"an agrees with the 27 — meaning
o"awn — and is 791 the v w of i

b) X"wann

i) agrees with the 7an of 2"w-nn that makes clear that o"aw disagrees with 1"
and holds that there are o>7v that 8723 °X7 was Mo 22K

ii) but holds that 3"x7 otherwise disagrees with both o"aw- and "> and instead
follows the nv>w of o790 w° who agree with 2"2wA only on the 771 that there
were 0°7v that X723 *Xi7 was m11% 92

c) The following 1w? of the 7" is marked to be xan the 7" as understood by
S"wAnn and to set out nywp that X"wnan asks on the Toan of H"wnnn

XD 70M P"wnn} {01 °0275} MO PIRW AW RO R - 7"
WIONT XA} Y XTI RDT 022 {0"aw} 277 woonTa {[ROK]
P 07YT {0"awnD N RN RORF MO nPIR DY anaw {0
ROW} MRW {N"7} AT 0T W 2 R 1937 2107 1777 K1 190RW
X7 1"2 AWPR 197} MO NPOIR DY AW {ROR Ypapa Y a0
WK 27 PATRR 11 772172 19977 ST OTIRT 2 K2 AR NART
2911 9TIR NITD NI ¥ TIRT 1192 1397 "IN OTIRT 192" Hw wnwn
7 M VPP DY OTIRT 117 2"awN0 MW Whwn 7RI 25w
X1} ¥ppa By ROR AT RY {0 noowh} 00 {5799 N1 AR
1972 WK PWOY 7"37 0PI ORNR WRN — X"WIIn} 00 DY a7
{¥papn By 7N

TIRIY 1991 97999 DIRT 02TV RIRT 071 0"2w? MIPo} 0pn Dom
{RNW:T 7Y 9IRT KT P10 11°PON RY SRART RTOM 277 RA? M2 70
ayb 0"awD NYWS MODIN WD 17 UPMIT ORA KW v}
277 7I0n2 YPAPY 1IN ROR RO23 ORT 12 770 K97 1370 X707 277
1" NYWH AR 2" DYWH PINT R MIAX YW K2R TR
{>N99K R MK P2 ORT 210 11 KPR K123 X727 RTOM 277 77 K2
TR 2T D272 227V RODT 11D 1N 1°P0N RY RNWT TV DIRT XD
XYY 0"awa 0 K"MW WP} AT oW 10 HY RPKR N 1P 77
X2°% "% X 227V 2w 92 12 1IN 7INR2aT DIWR 100 XT0T 277
X?X 2770 °T°R 27 DMK X2 1" D0OWH 0777 19X 740 0127 OPIRD
2177 PR 27 WR I R? R ORT AKX N 2797 XY T 2107
1172 90} STIR PTIRT 11797 {0"2w NYWH} 120 R PAXY NP
17 %2 DRTIT I {37997 2¥ 0YWY 27N 2Rl STIR YRIpn Y OTINT
YWY an2ITY PR IPR 0727 A TR} 1M 122001 1O 2TV RN
{31 X1H¥2 730 ROR 0192 770 K97 0"awn

7% 10 ORNR {17 NYWAD MPD NYPOR DY ATIIT) R 19073 7 ON)
Wi RN} {7 02TV RN 17 DY NRTITT} K120 KT X700 270
RT 1 N2 2IRT 177 X2OHR K707 277 DY 2°WIOR MO0 IWN
WK DTV T RY 0707 990 007V 21pna 230 KDY CNDOR XY R va
5"Y 1°N2N3 XY 1971 P72 KR PIva wsh w1 {500 2P SR 20

6) Twnn of X"wann
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a) To be yann the nywp on 5"wAnn it’s 1anon that 7" explains why he follows the
mow of owaon we as in 1"x1 marked as follows

wIOnTI {ROKR} {n"7 wrHd} M0 DIRY AW RO R - 7"A0
XX M0 2R 7Y AW {n" nwew} 709 X701 K97 1027 277
a1 onT {07 N Y R M93H 1Y 00 R) PIRY 10 Ty
R NRNFYPIPA 99 KOR 7797 KD 977 MO N2IR 9V 3700 MR
N979R ¥ 92K 51V 217P 27X 27 WK 77T K122 OKTT 090 W NLWH
NYWH 0IOR T VW AT AT VIDIT D272 DTV PAT AT R? MTD
X1 {RTOM 279} PR 991 {7272 227V 1P MPD NPOIR HYT 0w
TR 27W 7272 22TV RODT 110D 1N 110P0N K ROWT TY DOKT
X2 MR {PWIDR WO NYW IUIT) T O 1D DY RDR N )P
RN 1T 2Y2 DRTIT AW IR {250 217P PT°R 277} PTIRT 11°37 120
DIPAA NN TITT 2R ROT 012 51077 PR 1921} 1100 127 101 20Ty
DDYRY 0290 W N0 M0} KT 110 M R {7 Awp wn {07y
177} RI20 R X701 277 D7 0% RaR {71 073017 12 MInT 12non —
TNV K27 2RI RTOM 277 RNAN?DA PYI K17 K27 *°2RI K707 277
XD 1991 PIT2Y MR PP WD WN {277 21PN 10N 1INR 19X 2

5"y 1°nan3

TNO 'NX 'Xn NN

PTRT 2o 1D 10 KD 2RIWYRY "D RIT ONTART 770 NMNR ORI 7''72
QY0 7N ONNAR PR RMOI QITY 2PN 132 T INMBR MWD RDT N2 10 whnb
N2%% 2"y Bapd 1R Doy R'Mawn awpaw 20 N9 TTPMaRn mpe TN
bR % MART RDIT VT 1T KRR ORM D''NT X277 2''awnss wanb
a2 ROR 9D x1anh X209 'Y IR MINT TAARR TIMPYR ONaN
NIMA2 KOT X277 7 29957 RO 2" 21977 awa '3 e 30) Db "o
INDT Dop5 H''DY K29 91 99D 00X DRWT RO 972 W'Y 1RP RTA
QITY DIPRR AR DY N7 [RO77] (XOO7) O'NRWR MR 2TV 2Pna 1R
J9''™Y 11D 1m0 KD 1IMAR 2RWRT 17T 2" awand
1) X777 XM
a) The case
i) MAR 2w MR NYAYI PNAR D 1IN 12X
il) 7P oW A9IRT 2770 CNMR NIRRT UNTART Y70 PNR 12NN
b) nman
1) 7P aw NPORY PNIaT TR Y MR YR oA R pwh 12 o
C) "R
1) 3R RD 227V 2P WO D
2) X"wamn
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a) oRw

i) Is it possible to be X271 071 at .x% 77 in the place of 721 and for x21 to say that
TV 1S 1A°12 1AK1

b) nawn
i) Presumably not

ii) because in the x>»0 at :3% 77 that’s discussed below 27 agrees with »»ax that
TR KD 22TV D2 pwh Oh an

3) Twna of the Xy at .S 77
a) vTIm
i) mwnw can later be 131 7nm and say | meant to say "Pnakn mnRLw SmMar "

i) And then he’s 181 with the 1 that he could have said 1w “n%ox1 “niar qn
7Pt and the 1o is no longer o7y opna because Nynw agrees with 12187 7y
that the 77w at one time belonged to 121%7 "nnax

4) mooin at .X? A7
a) Xwp of X"aw"
i)  Why to be 17011 does nwiaw need to say omarn mnphw smak Sw

i) Why aren’t we 3 for nwinaw as a w1y that »ninax were Xy 71 72 177 — we
would then support this mavw that 7nx 01 72 177 with the won that nwaw could
have said 7p1n "1w >n%aR) “niar Jon

iii) And
(1) once we accept that PwnwT "NHaR were XnY 1 72177

(2) we’re o for ynw as a wo that "niax would have been 3 that yminp>
from j721%77 "ni7ax and then nwnaws “nnak and would have been believed
because of nprm "W 7Y

b) The yy7°n of °" to this X*wp isn’t relevant here
5) xmxat 3% a7
a) The xa brings a case similar to the case on .37 77 with the following differences
i) X217 agrees with »ax that there is no o°7v o1p»a N
ii) °v77m1 didn’t say that p>1in can explain that he meant to say 7°nmaxn minp? *max

iii) "aw" is wnon that the ayayn »7v say that the 77w belonged to »»max of ayayn» at
all times — onn av 7v o2wH

6) R"wann
a) noRw

i) Why doesn’t 0"awn say also at .x> 77 that the 121877 072K >7v are yn that
123%77 "nar owned the anm oy 7y 77w and that they never sold it
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i) And then there’d be no ®*wp why we can’t say for nvnw that 77 72197 *max
xn

b) nawn

i) We’ve established for >y7171 at .x% 77 that 1wnaw can be 19101 210 that the 77w
was naRn mnphw "NaR Y — so obviously it can’t be that 12187 >7Y were 7vn
that “niax owned the 7w at all times and they never sold it

i) And that’s why moon at .x> 77 is forced to rely on the y17°n of »"1 on why the
7wy of X 71 72197 isn’t available

¢) Note that

i) It results from this 721wn that it’s possible to be 827 07 instead of nan at A7
.X? because the case doesn’t count as o>7v op»a since the o7y didn’t say that
the Xy belonged to 121877 “niax at all times

T7 T

AVIAY 2NN 'In 2T Th

7127 IPNT N2 TBR D VAR 2902 T T2 'oIna [N TRy 70 0T

QN7 JIOART N7 ORIV R oY 10 PANT 7Y 7ORWT N7 RDT NUT nyaw

IYSRST ST RDT NOYT NYIAW 1127 OPNT N2 19057 Rhwnb abwn mvwnT

PIDI APWRT IRY AT ONTWD MWD PARI DA 9D TODR mewnm TV

YD 97T NOOT NYIAW MPNT 2T DaR "D N7 pnt B'RT mobwnn
T9''mY 2Y9D TI0DR IR PRY JANI

1) mnpn

a) DYWwn Yyawe? 7137 R 732w 20

b) Based on this 17 rule a person isn’t believed on 'x 7139w — for which there’s no
7y12w — with a won that if he were lying he could have said 'a 7avw for which he’d
have had to make a Xn>R7 "y2w

2) .79 97 M2ND R
a) The case
i) °max —asamb—owed money to a mon
ii) He gave money to a m°%w to repay the nx17:7 to the mo»

iii) The m%n» took the money from the m°%w and said that "33 *xv°0" — the
money the m%w had paid was for a different loan the 7% had made to the m?>

b) The p7

i) The m%n was believed wn» he could have been %571 1915 by saying 0°127 177 X?
o7 wn and that he had received no money from the m>%w at all
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i) The m 5w then had to pay the m? for the loss the m%w caused the m% based on
"°n77w *1pn>" for not getting a “ww from the m>n that would disprove a claim
of "k v°0

3) mooin
a) Nwp
i) The 1n of the m» should fail based on o%wn vaw»s 9120 Prw Tinn because
(1) had the m®n claimed o?wn 0°727 11 K

(2) the m>» would have had to make a xn>>7187 712w against the m°%w who as
an Tnx 7y was 7vn that he had paid money to the mo»

b) y1nas explained by R"wann

i) The m%w would not have been a valid 7nx 7v against a defense of o771 by the
mon

i) Because

(1) If the m>n were to say 0"7a the 5w would be a v to be 1w that he
gave the money to the m>n

(2) in order not to have to pay the m? for not having paid the 1%

(3) and that’s why m>n is 1nX1 on >x w0 with a wn» that he could have said
0"7777 and the m>w still has to pay *»>ax on the basis of na7w "1pn?

c) Nwp

i) the m>w isn’t a ya because if he’s lying to avoid a claim by the m? he could
avoid the claim by the m% by telling the m> “I gave the money back to you”

i) And once the m>w isn’t a ¥a11 he’s a valid 71x 7v and the m>» has no 1»n» and
isn’t 1R to say "X o and it follows that m5w caused no loss to the

d) yrn
i) The case happened after the 7pn of no*n nyaw for a 2o7 191>
ii) So
(1) the m>w is a ya to be 7yn that he gave the money to the 779 to destroy
the 1»>n of the m%n and to avoid having to pay m»

(2) because if the m>w were to try to avoid paying m? by saying “I gave it
back to the m>” he would have had to make a no°1 nyaw

iii) and it’s in that case that the m5w needs to pay m? because the m>n is K1 to
say *&1v°0 based on a 1» he could have said o"71% and the m>%w never paid me
at all

4) note that

a) the fact that the m%» would have to make a no>n nyaw himself had he said o"77%
doesn’t itself destroy his °» under the 17 of Avaw 2mmn
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b) because m»oin makes clear that the 7 of yaw? 2»mn applies only to a 1w
RNPIIRT

¢) On the other hand the 2111 to make a no°n n»aw can affect the nya1 of an 7y as
we’ve established

AVIAY 2NN 71 n"T1n

"D 72y DRYARN 21D 7aYT JPOR 2N RPITY "D 29I DY 172
TARTDY T AR RIZITD ROW 292107 O BRn b w7 2wn uem B oy
T2 P9I KDY 277927 YANDTR AN 2 RaR ' 1R Y 00T K97 a7
B129 1INY TINMT RI2D IR 1D NN QIRINI2 19IDRT YRR RADYTY 232N
TR 9APDR ROTR DRINWI 27 397 YaniT abwn yani N ¥amn IN yawss
NT20 N7 179 NOR ORI RRDYAT YRR 29INT DY 000 RDT IR
297 R7PN 2N KRR DR T2 YanIT MWD Yawsh PRI PRY TINRT
TATTI 279 RaR M7 2PD 12052 RWITID TTIRY AR 1771 207N 0D DRIARN
297 W7 32 2RI Yawrh 9129 WKW N2 7O0DR YAl Y2INIT 20 Nl

T2 '1mY 939BDT AR INAN TP ROWP DR PRI

T 7T

NaX "1 TN

B'"oY "D PanIT BY IR IPOYT 1190 720 RaN MY 7''Ra [2 7Y 70 07
MI02Y W''RD YRR PO N2 IR RDT 1AM 270 720 7190 NRaR '
RaR "2 7799 P17 RR ' ' HaR 1D 9M20 1M 1AM 29 RaR M D''NY

2171 N2 YanIT by oA apoyT 390 0 NORT 4
1) First nnpn

a) If a vani needs to make a v12w to be a>won Mwd but the yan1 is nyawn 5y Mwn
then the y2in is S0 vaws

2) Second mnTpi
a) TYIAW3A XOR YINI AN 1) 72 YN PR

b) ¥2in °nn° can’t make this 7312w because they don’t know whether the 7y°an of
their w1 is correct

3) Third an7pi
a) Xax " says that "o%wn yawe? 120 PRI 2w 201"
b) The 17597 follows Xax "

4) Fourth mnpn
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a) °1°72 3113 210 RNOY
5) X3 on own omw
a) Iawn by PN oI
i) Pxn " —the yani is own presumably because he agrees with Xax "
ii) 7am1 27 e presumably because he disagrees with xax "
6) X3 0n DN R DI
a) ¥Yani o min 1 yamn omn
i) XMWY 27 — vani nnd are PO
ii) 91YoR " —van1 e are obwn even though vyain snne are yawsh 1150 19K
i) 7229 TYOKR "0 72v7 702V PRINWY 210 72T
b) The xax explains that X 21 disagree with Xax "
7) mooin
a) Nwpon PTwn o
i) How can the 1577 follow both xax " and jmm3 21 who disagrees with xax "
b) Xwp on MmN m P
i) Since the 7097 follows &ax ' why does the X3 say 722y DRvwy 270 72v7
8) onranand "k R" are each yann these nvwnp
9) onwran
a) 7m0
i) agrees with xax "1 that a ¥yan1 who’s yaw% 517 1R is aown
ii) this applies even where the y21n is also yaw 9127 1K

iii) P7wn 3w is a special case where even xax " says 171217 because of a oip to
the ya1n

b) The reason that for pmn° the 127 is that 72y SR 270 72v7 is because K97 12n
7PN Yy oI

10) R"wnn
a) This table sets out more mmpz of the nvw of an 1°27
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1AM1 27 0

RN "M

RIR "

TN oY

¥2N1 X727 90 RaK "
11°03P7 X3 CIRWY 22wn
nwne

YN, 11°017 X1 22w vam

RO 7IXWY 02w ¥an1T Xnoya "o
N 11°0377

SR 21

TYOR M

0°1IN°7 72 0N

ORIV 277 XX " 7Y 9D
QOIDIRY PN P2 72990 R
YANIIW 19X 9927 "0 2INR
WD Yaws? 7N XY

RPT 72V W77 TN

79 01?2 X97 1277 P2

RIX 170 2own yan:

11) "xwro 77R" as explained by x"wann

113 27 "0 "

PR "M

RIX "

TN oY

R2X "2 9"0 1M1 277 PO
1170 Yana yan 19R Mt
05Wn 1991 yaw P’ PR
X7 057 YAIN VXM Yani

X777 9"0 PR "7 RAR "X 299
D1Wwn VALY N’ PRWD 07wn ¥an
RP YN Yy avaw peyT

1IN YA yaIn 1983 AT P
XM Yan1 0own 1991 yawh 1P PR
X1 7°097 yIm

ORI 21

TYOR M

0N 72 N

T°¥ 072 RIR "2 K97 PNW0D
12772 R"WAan nPwipa

RIX "5 27wn vam

12) mooin as explained by x"wann

a) Nwp to XY TR

i) Since xw17d 77°K holds that
(1) mynaw 2mman o applies also to a yawss 912° pRw van and is qwio the van:

(2) and that’s why for P7wn omaw where a 1w is Yvn both on the yan and
vani the 77 is w1

i) why don’t we say for mn° 11 10> where the 312w is S0 only on the yain
that it’s because of the v w of X2k " that yani >nn> are s in full as in the
following table

1211 27 01 " TR "M RN " TN 07w

R2X "2 9"0 1M1 277 P
1212° PR TN 19K M7
XM Yan1 oown 1971 yawh

0YWN YaN1 Xp>T7 K72 RAR K 2099
YaNIT By AW YT own

TN ORI AT R 9T P
X1 VAN 2Ywn Yawh PO PR
X7 YN T0OM

X ¥2IN 709

MYOR 2
RIX "5 27wn vam

SR 21

Y20 SRAYT RAR "D PWVD
YRR yawsh P9Ise PRT
Yo7 PPTI0DR PN

0°IN°7 7 0N

NAXN 'N0 2"Th

799 20W M1 INWT DR "D IRW PITINT N'IDRY "D R2IN RO 7''7a
PRIAT ORM2DY B''oY "D WA PR 201 %23 2''52 ani ROINTS "o PR
RDIRT NO9Y DaR K17 179932 TRT ORTY 732 IR 2n7 IR novY Pa e
AT RDT IPOMY T TR A1 N'NDD B IR RNT WIININT MMM
aND 39 RYT VTNINTY ORI W YIDYW MWW A1 WORT INRD W

DB'my W'Y KPR X227 P''D02 n''D% NNt
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10T N 1 2 PPN s PIMR 0w
o

NPINT N 1 2 PRImn X913 1277 W TRYIR D
X y197 w3
WTIR T ORN 2 PPN hil et Rialh ) 17RO DAY

R R WW 719

NavY 'Nnl a"T 0"awn

RI2OH ORI D' DY "2 TAR 2192 NIRTP 2D 197 "D AR R w'm T
MMBR PRNINNRT KPR DAR YRR NINZY 9IS KON PNNINR2 ant XN
WYY TR 7T PRITT DMWY XD2 AR 21 T MR PamsT avewiata
TNIAR TINMY VR WD TR W P2 0N PRI Y Bwamaa

9'my 'y anan 'oa YR

N7 7

qQ'7nnn 'ax onn A" T 0"avn

RTIWY WP0e 79957 "2 nveRan vax ann 7''72 2''awnana [N Ty 0 0T
APIND RO HRIAWDT MR RDWT Doy "D R mmD KDY MY
aPIRY RDINT 2MNAT RADAR 2P AR R2ORT HORRT XU7T7 2''RWH RNOAN
MIDDINT 27H BT DIWDT onaR Dwa s e ok 30 noh XnBRN
19"y R"'Y2 PR IR NI RN AR 39T NIMTT RTIRT T2 WY
1) First nnipn

7Y OponY ROR pibRatile fvk) SR W R AT
Xnon7 AR HW M N

79V oY KD RTW 9RMWY | QORI DIOW W
Xnon7 1077 7R 012

79V oY KR 120X P | A2 770 §0nna
Xnon7 SR

2) Second 7P
a) °I77 XMW means

i) For o"awn — R717 7012 1217 X 1MIn DA 201070 27 01 KW MRS 730n 1901
"SIPRY 3 R

i) For onra7 — "% 17 e no"
3) o"awn
a) Xwp
i) Why doesn’t Pxmw say *1>77 X7 for n>9mnan the same as for nmvw '2
b) v
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1) We’ve established for o"aw" that *1»>77 87w applies only to a nan» and the case
of n1mvw "2 deals with man» »ww while the case of 7°9mnai obviously doesn’t
deal with a nann

4) R"wan

a) the yy1°n of 2"awn isn’t available for an 11°27 who says °177 X1 has nothing to
do with to whom a jn is more likely to have given a mann

b) and on 27 must rely on some other y19°n to answer the x°wp of o"awn
5) qwna of X"waan
a) Nwp to 0"aw"

i)  Why doesn’t "awn answer that a°5man is different from mnvw 'a because
2Y9nNT IS RN2°AT 7%V Opon? XK and MW '2 IS XNT 778 PR XM

b) y1n
i) "RN2M7 %Y oponk X°R" can’t explain why the 17 for fponng is o

ii) Since *max Hw “nx a1 is also xn?n7 7%y op ik XK and yet the 17 is °9K87 92
pib}

NaY 'Nnl 2" Th

"2 M DIAIT NRT 90D NRNT 1972 ITH 99D 3T "D N A 72 'oun
12 972 MIN P01 PIDRT TIIWIONR DITA 9D 7T MRPT RIS R Doy
T DaAR D MR 2OMST IM2TD 2IIMATY 7T 2T MM RDINT NI PN
YRR RNT RNIIN RN2172 DRIAY TIART XNDR D IIAI R 0T

27T TR RNOYITT R2WNRT

N7 9T

N''n Y AT a"Th
T2 1N YINRT WD DWPAY 12 X1 " N7 7' [2 Ty 0 0T
PAYART 72 VDR A MIRT YRR 1DV DWMNPAY 0oy "o TRa
N7 7Y 22w 2wa 3'2%97 MW7 RIT 12) 11D OMaR bWy mIN T
W'Y "1 72 MWN2 0ENWD KON J9PDR KD 095N IR 1MAR K97 2100 19127
T2 RO KDY TR 912 77 B2 p''T RGN 'O MInD v T RN
19''mY 112 IMIAR PR IR TTT PPAYRRT 72 wanb

1) xmaat:7297

@) 23 2°9KRT 22 MAR W MR AT ONIAR YW W T

b) If 17 n*2is oo an item where the 197 is 923 987 %5
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2)

3)

4)

5)

6)

i) 71702 doesn’t release the item to apply 123 22987 9

ii) Instead 17 n°a holds the item until it establishes the correct owner
Twnn of the xmx at ;7% 77
a) YTIT1 NN

1) 72 AR PRI PR 72 PN PN 7 TR 82 R — meaning that pywn e nR
can’t release the item to apply 123 2°%&7 93 and must hold it until 17 n°a
establishes the correct owner

i) 71213 W IRY 0221 5w 1T X1 M In
iil) 12wn 1001 ROW 1913 Rw KD SRk 1913 R 22190 R WK 20
a"awn — x0a of X ' and "wx 20
a) "o"a1 Hw on that X1 " mentions refers to the pywn 1 7% mentioned by >y

b) swx 27 explains that 1211 "»w W% means the pywn 12 TR isn’t 192 1 by maws and —
the same as *y771 said — he must hold the item until 7 n°a decides who the owner
is

1"2nn disagrees with o"awn

a) WIS maws 7 RxY if he releases the item to j21%7 and Pynw to apply 9>
023 DORT

b) The rule for 7"2 isn’t relevant because 7"2 has a special responsibility to resolve
disputes

R"wAn

a) It’s because of the &*wp of 1"2n" that Moo says x*°11 ' and *wx 21 refer to a case
of 07X "12 'n H13 —~whose o°v19 aren’t relevant here — and not to the p1w: 1 TR
mentioned by *y7m1

Tqwan of X"wann
a) nooIN mentions that "onwnp" is waon that *wx 27 deals with a 121 77712 25w 110

b) But the oavnp of 0"awA that we have reads as we’ve explained it and this reading
is supported by 7"an7 who also has our &0 in 2"awA

X197 'N 2" Tn

TIRID TIR 2RI RITT 1D 2N R paT 12T V'R "D b R 1772
R AR RN9X RY9N 9RaT PRI 9295 Dar B''op 15 n1veh R 32
NYTID® P WAPRT PRT ROV KA1 7RI X7 NI MDIOR whwa 75PN

1)

TR'YTY PITIND IR WYY 2ORYD TRWRR TIBPIT KD T IR KDY 10T

ptay
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a) 2xvnw° " holds that aprn min m2°ox a2 for a P 1in because if the 2yayn hadn’t sold
the 77w to the P 1in we’d have expected the w2 to be 7°9p and nmin before the
P completes three m ox

b) 1127 hold that three years are required for 71 because a 1 won’t hold his 0w
77°on for more than three years if the “yavn isn’t 7mn

2) YR

a) At nyn X9R 17"7 0N 12 77 it seems that X"w-nn accepted the mwow of 1"ann that '
SXynw" requires nxnn for the purpose of 2777ma R %50 VWA WK 77 M2°OR NN

3) mooin
a) 7oRw

1) Does a certain X by *wx 27 mean that *w& 27 holds that a qy2v» can claim
even after o>1w "3 that 7°n7717 M1709%

b) nawn

i) No - because then we’d expect every P1in to keep his quw forever to protect
against a 7w1vn who claims that n707 M7

i) So that a p>1in couldn’t rely on npii *1w even against a 7v1vn who isn’t 130
that n7717 M%oY

4) X"wn
a) This isn’t a xwp for Sxynw "

i) Because after three m»°ox a P 1 will be 71911 against any 2vavn who isn’t 1910
that 1°n77 M0 and who should have been 75p and nmn during the three
MK

07 97

N1 'Nn " Tn

1799192 ROINT 12 NYAYHW MM AT "D TR R 17172 [2 Ty Yo 0T
FTORAT MW B IR B2 NN NIRRW M1TvXa B 5oy "D DN BN
T2 RO [RIRY] (R72Y) MNR IR N2 TY I IR NTINAR T
DOROHW 77N NIY NID MNY 7R NN SIMINY 95T 2''NT NBINT
2O 'A% AN 1Y OHERA NIN ANY NIRHR 2R 'R 1T KD INY DTma
19" ™Y Ny

1) xm

a)

i) o°mon say that nptn needs ar YR orn 02w '
b) xmw
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1) o°non say aptn must last for three m7°7a and three ma°xa and three mpoon
2) mooin as explained by x"wann
a) “xmw means three yearly cycles— for example
i) from the first 77°%2 to the second
i) from the second n7°x2 to the third
iii) from the third 77°%2 to the fourth
3) X
a) Nwp
i) Both 27 and 2xww need three full years
i) How do they differ
4) mooin as explained by X"wAan
a) Nwp

1) Why doesn’t the X3 answer that they differ where the final 77°x2 ends earlier
or later than the end of the third year of npm 1w

D'wYw I7 'n n"1TN

FIRD NUaY TRRW punn MPITA NIRRTV Ban 1o 2nmhw W 1 a'Ta
PTIR AR Y MW 2RT 2T DY B nan o R B oy 1o
TR 32 OATD 2IPR IND PRW IS MDDINT VM2T 2PN BoR NRR T
DR "D KD 29ITAT IR 2991732 KP NUPN T 277927 N0 answ
MIPR 7YRN® DaR 1anD 920 MW T 9D NPT XD RIWST TV 90 N
MIITH NIDOR YWD AR WD 9 707 DY D bR punRn Mt
7 72 NNR DRI WD 23 B KD 27D IARTD IR0 N2 whw yunn
B2 2P INT 2P wrn TR KON IND Nva Yon NRR pRwn KD "D AN
717 '3 WP TI9DDT PUDA FTN9DR PIYDT 2R 1D '9IN2 MW NINON
"D 'Y pURR 2MWDW RDT VPRI ORAR TR NXOWR 7R ypap mp nwhw
N2 B Y ITT RADYR NIRRT IRD N0aR Y Yun Ty DR N7
M2% 923 VPITS NN TWRR X7 1" PR 519 7T NIIDOR 20whRwh SIND
NAR DORY NUDIR TWHRWD NYAR 12N 5790 77T IR0 N2 Y punan 1y oo
12N 2T T2 T2 NN ROT QIR SPIN RONT XY A''7227 120 10 mawa
MW7 RTRTIT 9N2TDY RIT WD DIN2 RNPR 12 2Y9ITA2 KD NUPOR I

TB'"mY AW NINDN B2 2MPR NIDDINT IM2T2 M2 0D RN

1) First nnpn
a) A xR0 nais 50 nmnak by 50 nak or 2,500 square miak or 2,500 >7°n
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2)

3)

4)

5)

6)

b) o°9°37 mao°x are planted at the rate of 10 ni%°x per R0 n°2 or 250 >71°13 per 12°)

C) o7 N>k are planted one per 833 >7»73 or three to a X0 n2 for the same total
of 2,500 >773

Second 7P

a) The X723 says in 719077 PR A7 P9 that "ypap 73p MUK '3 0"
b) The o°v1o of this 17 aren’t relevant here

Rlah

a) If 30 mi1x are planted in a 77w 10 to a 7o n°a and a o eats 10 ni>°R a year
that are >1rx2a °1&2 the p°1n has a npn in the entire 77w

i) °nxa T2 means that the ni17°x are spread out in the sense that what the p>1nin
eats each year is 7msn through each nxo n»a

i) There is *r1x2 *182 if each year a person is %51x three ni?°x from one nxo n°a
three from the second nxo n°a and four from the third nxo n°2

mooIn based on the xoa of %"wAan

a) TN PIARMT R T TIWA DARY T TIW DR 99R) IR0 N°27 1 yunn M7 NIPKR 0 DaR
N353 ROX 117 X7 291727 277K 2291732 K2 NIIK 031 MR TR RDT KO 2OWOWR 107
7191 XY P92 J1AKRTD TIRD

X"wn
a) 9"wann is 177 1 correct that

i) if nine o773 MI°x are planted three to a nxo n°2 and a person each year is
5% from one 19°r in each R0 n°2

ii) there is no P because there is no *1IR2 *TX2
b) but there are two nrwp to the xoax of 2"wann
i) First xwp

(1) The words "ni>>x *3m" at the end of the m12°7 suggest that moo1n wasn’t
discussing o°2172 7k until the end of the m2>7

ii) Second x*wp

(1) the words "y mawa nnx 2oK1" suggest that the P 1n eats one 12°X in total per
year — not one 17°x per nxo n°2 for a total of three n11%°x per year

mooin based on the ko3 of X"wnn
a) This is the correct xo7

b) [P RN RY T TIWA NARY T TIWA DR DIRY RO 1020 ' % vonn AT DIYOR ' B Hax
"3 ROR 1177 K2 D°I7AT 2R DO91732 RD MIIPR 101 TR OTRA RPT R DOWHWR 7 070
719177 KD 27192 JIMRTI RO N2

c) namely
i) mooin first asks
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(1) Instead of dealing with 30 normal 2>°37 117>k in three nxo n°a where each
12°% has 250 >»>773

(2) why doesn’t the X7max deal with three o°%°37 nu%°x planted at the rate of 10
N>R per axo n°a — namely with one 12> per 250 >1°n73 — and the P>
eats one 12°x each year

(3) this would be preferable because it would correspond to 173°50:1 nX 2557
where the x7n3x deals with three ni%°x

ii) and nmooin answers that the 7%°0x of one 12°X per year doesn’t count as °TX2
TITR2

d) And it’s only after >>°» >3 that m»oIn

i) considers whether there is a ipr if there are nine 2°9173 N>R in three X0 n°a
and the prnn eats three ni?°k each year — one from each %o n»a

il) and concludes that there’s still no >R *1X2 and no 7P because the P 1rn eats
only one 72°R per nxo N2

ANO N"AY "yonn n"1TN

STOR 321 INP RWTPT Y28 NPT NN NWIDT IR "D nvab ' punn a''a
NN99M22 PRRRTD JIRD NUab ' puan ORP ORT ' 9oy "o apa 1y
7R VT 112 797 PPNTY IORNIP RITT 2R N7 DR D12 nnT

T9'"mY Y3 MaYOW 9757 NIND2 RNDDIND MNP VIVTIAT VIR
1) mnpn

a) nuX that are yunn at the rate of 7xo n°2% ™ are more “Mon than nu?x that are
planted at the rate of one for every 16 mnx

2) Xn»™2in n°an nx own at .y a7

a) YpPIP WUIPR R0 N022 I N XYY MIND RY PINDAT MUK X WO
3) X3 in 77507 DX 00 PO

a) MR Y 902 71 YRR N PINON M RDT 729221 Ypp 1Y 73p MR '3 o0
4) o"awn in 73°00:7 DR 5% PO

a) The X3 in 71007 X 10m7 would also apply the same rule for wipi so that the
YW in 729907 DR 12177 iS stricter against wpa than the 1w in the xn*12in
P2 nR 0Mn

b) And the following xnsown — although it applies a different m1y>w than the X723 in
715077 DX 0 — proves that the same My>w applies to 1on and wipn

1) XnooIn
(1) 20 X2 MNd RY R0 N°27 " PANDR YRR WP MR A wUTRn

45



(2) PPmn R 791 19992 12 P2 RITW TV 1P21P KT NI YRR 0n MIPR 300
7RO N5 S Ty

5) moon as explained by x"wamn
a) Nwp

1) It’s correct that the Xnoon applies the same My w to 177 &7° 71 but still the
xnoown applies a different My w on "y27pn R 700"

(1) For non the Myow is ¥932 12 920 RiPw 1Y
(2) While for wpn the mww is axo Ao »
b) y»n

i) This is how o"2wn understands the My w of xnosown for wipn: nu»R '3 w>Ipa
IRD N°2% ™ 12 N KDY 19952 M2 AT RITW TV 12 NIND KD 1INDNA YRR WP

i) So that the oy w are the same
T797

AT 'O T"NA

"2 1% TR P2 PIRIT IINT MIMD K29 a1 1D 7V'R2 [N TR 10 07
WP 912 1722 ININT RNADD2 RODNT RD KDY P PIybT B B oy
T9'"PY RDITT MARTR JAM1 290 9207 aNT PaARTR PN 2T

" a7 2" TN

9237 397 21 "D PO IWAYD NUDIN Awa IR "1 XY ''7a
PYRT A1 17ARY N2I122 700 NIRT R2PY 0 'R oy "D D0 Py 17T
TRIPR DMN PV WANWD MIPOR I I0 MNI KD IRPR WM 77D
YRR T PRT 2012 177 R2PY 2% 19DRT ' awa aph 'ownng w''ns

2Ty BR

T Q7T

'¥n X7 'XT "N

5oy TPINRT 2IPRA PIND IR TIVY "D 0% RY ORT 1772 [2 Ty 10 7]
TRIPA 2NN YUY KD 21 NN AR YRR W PR ART 1T0 yRwn nIvoNavy
AR ART ORTI MITY 22 I PRYW 72 PP W PRT DAV 2 mIpT R

J9''mY JRIPR2 2NN 192 9Dl
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NN~ Vn A" T

5o "D YRR oR WINID2 MINY PITH TR IR 1D NuRR 0n ''7a
TPTIDR 12 PTRIY NIRRT NN TN 970 NI 9ITA TR wHnD PN
7P KD MINTIDRAT YD 'ownm w''hD B9 ypap i KD 07 IND2 D''RY
TN KPR 9K TR 1PTD PYIVI NNYINR TRBRIw BT KUK B9 ypnp
97 RD OO RDWTT NUDINT TR 970% ST TR WY TR R9RD 30
Y9977 NNADINIT TR 0T TP AP IO VRN YRR DO R0 MM

T 'TmY AT AIRRTY BT IR KPR IR IR 212

NWYIN'S DN T"NA NIDOoIN

12 R2IORY 3227 RORY 12 @7 31297 N2WORY P RRYONR van 27 7'Na
B By 15 NITY M2 IDRT DRR 7D PYR ROTPR IR W17 DT 19
72 7199 W7 33297 57 777 7YY 012 1790 W7 J1a0% 2y p'' aT
"R IPIN2 DR WTPR2 W'D WOTRR 9B MITY M2 BKRT 0 B2 waTen
T2 KT DD 9295 99 TUIN N7 K97 3'OR BNy ypapn an waTpe
IO RITT N7 IR WOTPRT 1TIAT 11207 191 wITRR W'Y 0w 1190 YA
PV 0% 09N KD 2P U7 PIYD KPR D77 MARP RDT 07 MO KD
799 NT9207 T572 R2PY "M% 19 KD aRT YRR a5 wTpRT 'R (9N wTen
"B 92 SN WY RN AN JPIND PRI A1 790 Ipn 0T A e
"7 VP RDT WHDD N w7 31299 WOTRRT NITY 12K 11299 P2 N2y
2" DR TT7 PIYD WP 97 1299 ¥R 907 IRD ORT 211 KON
TP'NTY ROTPRAA STIDI NITY M2 AV @17 3200 9% RM20 T RPT w'on

1) Review the following table on a X210 in 71°507 NX 751 and on MooIN here as well as
a noxw and mawn by X"wann

47



nanwen | R"wenm nbRw 9N WIS DR WTPR | YPIRT AR oR DIDOR '3 R
R'"wT 8 yppn
mT? I WP | M7 DR 00 XY 37 1321
1YY M7 12701 Y
7 PYaT
AR ir2a
DR WOTRARY | D17 DX 00 KD NV "
a7 YAt MTa
Ay irla
190°77 19 ORT KXY a1 Or 13270 ™9 PR S0Pl MDOIN m72 770N YPIpP Ton R R2PY "M
1R 70m2 WX 1R WITRAT nyAw "7 TITWIPAT | M D PYaT
901 KY TR DR WOIPR TR DR WTRIT m7>
PR 1N VPRI 1991 mxy M7
v Hy Taonb W 9o
7707 R | 1ER WOTPRAT
79 PYATMTY | WOTRR TR 1R
)] YpIpP DR
%7 ORI 1127377 R VPRI MO0 777 PR RS YpIP o R 7 1320
RIIX JR0M nyAw "7 TITWIPAT | v pyaTmTe R2PY
YT RN 120K WTPT mT oM
T WP 1991 1mxy M7
P M W 93
PR WIPAWD | 19708 wrIpnaT
DR WP IR | WOTRA TN 1N
yppa YpIpP DR

6) Twnn of X"wan
a) M¥pa
i) The table points out in the final two columns that x2°py " and &2°py "7 1321
(1) can’t derive that ¥pp7 DR WP TR 122K WP

(@) from the 17 for x2°py " that M7% 917 100 ¥ppa DX Yon and DR WoTpRa
Mo ypp W IR PR

(b) or from the 1>7 for X2°py "7 1121 that at least 717 w7 ¥ppP7 DR W IPR
mT>

b) xwp

i) Then why does m»oin need to assume that &2°py "3 and X2°py "7 1327 hold
these o137

C) y™n

i) mooiwn relies on these o°17 only as a basis to conclude that x2°py "y and "7 1320
X2°py can agree with nwnw "7 1327 that w7pn even the m7 itself

ii) then m»oin in turn relies on the rule for X2°py " and X2°py "7 1320 that woIpn
even the m7 itself to conclude that ¥ypapn nR W75 IR 12°R WP
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nawn | R"wamm nbRw 9N WIS DR WTPR | YPIRT AR oR DIDOR '3 R
R'"wT 8 yppn
mT? I WP | M7 DR 00 XY 37 1321
1YY M7 12701 Y
7 PYaT
AR ir2a
DR WP XY | N7 DR 01 XY NnvAY
a7 YAt MTa
Ay irla
19077 19 ORT R N7 XA VPIT D "uPl MeeIN mT? 77700 YPIP 0N R RBPY "
1R 70m2 WX 1R WITRAT moon TITWIPAT | M a9 PYaT
901 KY TR DR WOIPR TR NR WAt =87 MY
ypIp RN YRR 9 PR VPRI v JRn
W'y By Taomh | Mwaw M7 73370 | 9T ane b
77 0T omn O WIPAT | whTRRT Penw
797 PYaT MY D013y MT | 1Y M7 19BN
g}l WIpaaT W
TR TR 190K
nR wIPa
yppPa
1% ORI VPIT 117D >uP1 NDOIN 917 10n R? YpIp o1 R 7 1120
RN 720072 mooin TITWIPaT | v pyaT mTe NPV
YT RTA R wTPnaT 197 MY pbllal
7 WP 9 R Yppn mImb NN
PMTY | PYRw M7 | T et ber

1R WIIPAWwD
DR WP TR
yralrh]

12DR W7
9 1mey M7
WIPaaT W
TR 12K 17°0R
b\ vaair]
yppa

ROTRIT YRR
MY M7 VBN

N7 971

XU'wO "7 Inx n"T n"avwn

TN B 79 PR RAP "D RUwD 5K 7''72 2'awana [2 Ty B n7]
NO7572 77790 TN 20 DR 120 TR DRIAW 1T D wynd WMoy "o b
12557 TR DY DRAWRT P'ITT DR 2 DRIARD RI7T PIIDNRT nbwa

19 '™y BRYARS 1772 90012 QIPIIAT 19 TR 19T KD RIVTH DaN o

1) xm

a) 277X 377 20

1) FM2°0212 PPN TR

b) xmw
1) 1M2°0012 PPN

2) o"awn as explained by x"wAnn

a) A oo in "2 0¥oxon says that a 77» returned property to a woman who was nrna

b) nowh says that 1m1 21 says the P00 is 2 % ¥»0n meaning XY
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3) R"wann
a) Nwp
i) This is actually a &1 for 21 against Hxmnw
b) v n
i) The moo implies that the 791 returned the property 173 X5

A 1292 an I'7"9x a"T n"awvwn

S99 SITONT FMI2 90212 PRI 90T 2MH "D PR '2 5103 1R ER 1''7a
PR IPIDRT 27 JPPIRWNRT WD O IR D' Doy "o 7 90 INnn
N7 270102 11797 KD 2R 1T KPR 2570102 NINRH D21 1112 DR apna
TAIPR TN QWY 1990 R U7 JIONRW V152 MIAROD  RTIT 001N PN
STRIT ORONT VTN PP O1D2 NS BT R 192 DYa MR 197N

[y

07 qT

"IN AN A"TN DINK YWY XA AT oM avwn

729 "D KPR IR RADR 1D NN TIwh Xan a2 R 7y uh nT)
5o "1 KPR 1129921 R® X291 "2 P RONT 00T 24 By ONY "D apn
T9DR KDY 99 9235 110D 719977 010 33200 KaT IRTIT 199270 9D INM
W5 17YPY 7327 9A09D KD 19152 IR 0 AT RNDH 72T RON Aan1 20
SRITITTT AR AN ART J329% R 1D K2R 79 pon X979y o' awn
AT I YWD DDA TN 21 NYWH JRT 2" ROMDONR2 nynw
DI 1 IR Rab 129E1 KDY AT 2177 NYWST ROTY NIADORR W'Y
50212 "' DO JI9AR 27T ROITY TN RINUT KD A1 19102 ROR INAMRM
Y 119 N2 D120 KD MY 10102 SINART O¥aT 1190 2970 INT 2

27y e

T 2I5% "'oY "2 PRSAT 327 YT "D NN 290 1''7a 'Ban
PWTR ANY NPRRI IPINT MR 19 NORT 'Y 1291 OUUIDRT NXN20
FONSITR 29N99Y OB ORRAT M1 MAnh wo 2''R DR 'oInm w0 e aRmann
739779 R2D TOXY IR RPY RORDOR TV DYRAWI IPIAIT RBINT 7RO
UM 77T R2TT 1IN DY 211N TR ORI 3T ROWIP IR 772 PURRTY

T2'NTY TN Y2072 o
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7127 939D R72Y 9oy "2 IR IR BO0AD ST BR 9120 112 7''Na
"2 9""9HT 11907 RY IN 1122 SINAR P2 OR 3WDT 700 RIO1 KDY RaqR '
N7 10920 K299 19 7917 A7 277 19122 YT A1 11200 R 19 MR MIDa
17ORY 17152 YA RY 9721 39T R2TR MARPT KUK KD IN 19152 2 9N D
399D 2''YT Y2 30212 PRI PRT RiT 928 RITD 27 KD 299 DOph R7IR5N

T2 379 KD IN 19153 Y3 5K 'Y 3320

1) mwn
amn X2T X7 ARIN T AN 1M
X277 275K 71 RO KD 900 AT 1127
o 897
R X9 198 R0 70 AT a7 "
ROR 203w '3 1WR K77 AP RODKY ATV N 290 AT AT
121 R2W "1 77D
2) X

a) Nwp to 1327 in the mawn

b)

d)

i) If axma %07 1192 XKW AR because 2 noXk X1an 7120 and the potnn will hear

(1) 1 understand why for 7737 a7y there’s a apin if the avavn isn’t mn — the
ayavn should have been nmin because the axnn would have been effective
and would have become known to the >rnn

(2) But why is there no sprn for 25x 7
i) And if X7 X7 R 17192 ROW AR

(1) 1 understand why for 53 777 there’s no npn if the 9yawn isn’t 7mn — the
axnn would have been useless because the axnn wouldn’t have become
known to the p>mn anyway

(2) But why is there mpm in a7y 370 if the ayayn isn’t amn
717°n of 9an 12 XAk 21

i) 71327 hold that nxnn X177 1192 K7W 78n» and this explains why there’s npin in
anm v if the ayavn isn’t amn

ii) But %% 77 counts as o171 nYw SO MW aren’t MMxn and P rn won’t hear
of the nxmn so the nxma would be useless and it follows that the vy needn’t
be mn and there’s no 1P

Note that 5»n 92 Xax "1 doesn’t consider the possibility for 1127 that to say nxnn»
TIRMN RO RY 17192 ROW IS a XmMIn to the ayawn that requires him to be 192 2% of
the 1 to be 192 mn

Note also that from the 17> of 777> "1 in the mawn it appears that 777> " holds that
the av1vn does need to be 17192 nmn of the poinn

3) Twnn of the xwx at .vh A7

a)

M 20
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i) 7IRAN RN I KOW IRAN
b) xa
1) Xwp as explained by 2"awA

(1) Since 7> " apparently requires that the qvav» must come 192 of the
Pon to be anmn

(2) 1t must be that 777 "1 holds — contrary to 1an1 21 — that 8 17192 ROW aRmn
TR 8017 because if AR X217 17192 XOw aRma why is it that 9vavn can’t be
MY PNO1TR 2007

C) man
i) yn

(1) In fact 77 " holds that axmn X217 1192 XOw a8An and 177 172 it’s not
necessary for the 7y1vn to come 17192 of the po1n to be anmn

(2) nmi " says only that it’s an 7210 73y for the 2vawn not to be “no17x 200
and instead to come 17192 of the P 1 to be amn

4) o"awn at "2°nK 7"7 and at nank 7awa 82 "7 as explained by X"wann
a) Nwp
i) Pnn 92 Rxax " has established that 13127 hold xmn X217 v192 XOW RN

il) so at the same time that X217 asks his x°wp to yam1 29 from 7770 'y why doesn’t
X231 recognize that 1127 are y»>on the v w of 1M1 21

b) v

i) X271 disagrees with 5»» 12 Xax " and says that 777> " and 1321 both hold that
TRMA RN KD 1192 ROW Axnn but they disagree on the following 77p3

(1) nmi ' says that because xmn X177 X7 102 Xow nxnn the 2y vn needs to be
1°192 M2 1 prrmak 825 even 2253 a2 and if the qvayn isn’t 1192 ammn
there is a npmn

(2) 1321 say that

(@) the qwwn needs to be 1192 minn>% &2% in a7 a7 and if the Qvawn
isn’t 1192 M there is a apm

(b) But

(i) the 9vwn needn’t be 17192 ML 1 &2% from Xmoor and in 77
5531 because for x°nooxr and even for 2931 a0 we’re wwn for
o YW

(i) and the case is similar to a ™2 against whom there is no npin
because a n712 can’t come to be 17192 M

5) nn7pnto 22n°% 7"7 mvown and to X"wHnn at 2207 A"y

a) Mmoo asks the same X>wp as o"awn — namely when &27 asks his ®>wp to yam1 29
from 777 " why isn’t he ¥>on the v w of yan1 27 with 1129
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b) But we’ll show next that X"wann explains that

i) Mmoo has a different nu>w in the meaning of aRmA X177 X7 1192 XYW XA as
well as in in the meaning of nxnn &7 1°192 Xow nxnn and the v w of ka7

i) And that as a result moaoin asks the further xwp that even 770 ' doesn’t
necessarily support 27 and can hold that nxnn X7 1192 ROW 780

6) X"wannat2nh a7 —part 1

a) Here are o°%5 on 192 X5w nxnn as understood and explained by mooin at X 7'"7
PRI at :no a7

i) First %9

(1) If the avawn is in a distant place where a nip1i isn’t nynwi it’s a mwws that
there’s no 7P whether or not xmA X7 1192 ROW AR

i) Second %72

(1) Even if generally nxmn 817 17192 X5w R there can be distant places from
which a 7xnn isn’t nynwl

(2) Depending on the »nx7 181 we’ll discuss below the result is either

(@) '® mvw — the 7y7yn needn’t make a useless xnn where he is and
there’s no 1PN

(b) "2 nv>w —the 2y7yn must go to a place from where his nxmna is nynwi and
make a 1xnn there even 17192 x5w of the prmn

iii) Third 592
(1) If axnn &7 RS 1192 ROW ARmA the qwavn needs to be 1192 7mn of the P
even if his axmn is nynwa at a distance
iv) Fourth 595
Q) xR mow

(@) nxnn is assumed to be nyvnwa wherever a 1P is nynwl — ApPIAT X 9"
"NYRWI IR AR NYRYI

(b) This v w also assumes the reverse that there can be a distant place
where neither P11 nor axma are Myaw:

(c) Note that if np1r isn’t ny»wa this alone is enough to result in there
being no p1 — it’s not relevant 12771 731 that the xn7 also isn’t nynPw:

(2) 20w
(a) nprmis always nynwi but it’s possible that 7xm» isn’t Ny

(b) It follows for this nv*w that in a place where 7P is nynwi and nxnn
isn’t nyRwl

(i) If noxnn &0 R 1192 ROW IRy there is a aprn based on the third 595
if the avayn isn’t 1192 nmn of the poinn
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(i) I nxnn &0 vI02 XOw nRnn the 17 depends on whether

1. The first muw of the second %95 is correct — the v y»n needn’t
be 1imn and there’s no 1P

2. The second v w of the second %53 is correct — the 2v2vn needs
to be nmn — even 102 X5w — in a place from where the axmn is
heard and if he doesn’t do so there is rpm

7) X"wann at 2200 07— part 2
a) 7oRw

i)  When m»ooin asks its xwp to 827 that 1327 are v>°0n to 1m1 27 and must hold
that X7 X217 17192 ROW O8N

ii) Is it possible that mooiwn held that X2 can accept 'x 7w w of the fourth 95 that
nYRWI AR AR nYRwl apinT 82°0 25 and that there can be a place where neither
IS nvnHwl

b) nawn

1) No —because if so m»01n wouldn’t have asked that x27 should have realized
that 1327 are 1am1 27 ¥»on because it’s possible that

(1) 321 agree with &2 that nxmn 817 &9 19192 KOW ARAN

(2) nptnisn’t 290 A7va nyawl and that’s why there’s no fpi — the fact is that
the axnn is also not ny»wa but this isn’t necessary for the result that there’s
no mpTn

(3) mprnis nynwa in M A and that’s why the qvavn needs to be 9% 82
mnn pmnT and if he doesn’t there’s pin — the fact is that xmn is also
nynw1 in a7 a7ne but this doesn’t affect the result that there’s apin if the
ayYA isn’t 1192 AN

i) And since m»oin did ask that &27 should have realized that 1127 are ¥>»on to 29
1m1 it must be that

(1) mooin assumed that 821 holds that mprm is always ny»wi and there can be a
place — in this case 231 7717 — where a i is nvawi and a axmy isn’t
nynwi and then x21 is in fact forced to hold that 3127 are yan1 21 ¥>>on that
TIRMN X7 17192 ROW ARAN

(2) Since

(a) If 1321 were to disagree with 1am1 27 and hold that R 12192 X5w R
TRMN RO

(i) we’ve established in the third %55 that the 2v1vn needs to be mn
1192 even if a axnn isn’t nynw

(i1) the 7 for 1327 should have been that there is a npr also for a7
5031 if the 2yvn wasn’t 1192 M

(b) But if 13121 are yam1 27 v>>on and hold axmn K17 17192 ROW AR
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(i) we understand that

1. there is mpmin 77" 377 because nynwi nRnn and yavn can
be “n>172 "M

2. while in 253 7770 from where 1nxnn isn’t nyaw: the Ay vn
need not be nmin — based on the second %5 and assuming that
the first nu>w of the second %92 is correct — and that’s why
there’s no 1PN

8) mooin at 2°n°9 1"7 as explained by X"wAin
a) Additional xwp

i) Notonly is it a x°wp to 827 that 7327 support 1ar1 27 but it’s also a X*wp that
even 777 " doesn’t necessarily support X2

i) Because

(1) Now that we’ve established that mso1n in its X*wp must have said that X2
holds that there can be a place — in this case >°%x 777> — from where a npin
IS nynw1 and a axnn isn’t nynw1 and that apsn is always nynwi

(2) It’s possible that 777> " as well as 13127 holds that xm7 82177 12192 XOW 78AA
and he disagrees with 1127 only in that

(@) 1321 follow the first mu>w in the second %> that 2y~y» need do nothing
if he’s in a place — 2°22 177 — where nXnn isn’t nynw?

(b) 7> " follows the second mu*w in the second %3 that where xnn isn’t
nynwa the 2y yn needs to go to a place — in this case to 77 — from
where arma is nynrwi and be 17192 X5w amn there

b) v1n of nooin to explain the 7w w of &2
i) In fact X217 was nyw both for 7770 " and 1321 and said that

(1) both hold that wherever fiptr is nynwi a nxnn is also nynw1 and that there
can be a place where neither 7Pt nor axn? is nyaw:

(2) and both also hold that 7xm 817 X 1192 X9w 7x8An contrary to yam 27
(3) but they disagree on whether 73p11 is nynw1 in 993 o7

(@) 1320 say aprh isn’t nYPWI in 293 A7 so there’s no P based on the
first 595

(b) 77 " says nptn and nxnn are both nynwi in 293 77 but since axnn
TRMN X7 KD 1192 XOWw the Tyavn needs to be pomn Hw vioa amn and if
he doesn’t there’s 11

(4) mn1 27 in his Y100 agrees with X217 that wherever 7pin is nynwi a aRmnA is
also nynw1 and that there can be a place where neither spmm nor axmn is
nynw1 — but he says both 1137 and 77370 ' hold that axmn 8017 17192 ROW RN
and they disagree on whether 13p111 is nynw1 in %0 770

55



() 1321 say AP isn’t nYRw in 9293 777 so there’s no Pt based on the
first 595

(b) nmi " says nptn and nxnn are both nynwi in 53 777 and even
though nxnn X7 1192 XoWw AK87 it’s still an 721w a3y that the 2vwn be
ERitaleli7A st iyigala

9) X"wamn at 720 11271 7"X2

a) ToRw

i) Return to the nv>w of X217 as understood by " in mooIin

(1) both 3127 and 7 " hold that wherever 1 IS nynwi a nxnn is also nynw
and that there can be a place where neither npr nor axnn is ny»wi — and
both also hold that nxmn X177 X7 1192 X9w AR contrary to 1am 20

(2) but they disagree on whether 7p1 is nynw1 in 990 a7

(@) 1320 say aprm isn’t nYPWI in 293 7717 so there’s no P based on the
first 595

(b) 77 " says nptn and nxnn are both nynw in 293 77 but since axnn
IRMN X7 KXY 1192 XYW the 3w needs to be o Hw v1oa amn and if
he doesn’t there’s 1pin

b) xwp

d)

1) Why does %21 in his x*wp assume that 1127 would agree with 777> " that nxnn
TR R R? PIDA KOW requires even in 73 3700 that 17192 minnH k2% *va and
as a result X217 must explain that 13127 say there’s no a1 in 2°%3 777 because
P isn’t 29932 nvnaw

i) When %27 could have said that both agree that the np1n is 2°932 nynw: and their
np1onn is similar to the 722 of 2"awn

(1) 1321 hold that nxnn 8017 X9 17192 Xow axnn requires only in 77y 7 that
1152 M1 R2% *¥a but not in 2ox a7

(2) while 7770 "1 holds that the rule applies also in %3 a7

'aRbY
i) " says that it’s 1anon that 1327 agree with 7737 ' that 1192 nma? 1 829

in all cases

Note that

i) We’ve established that 111 27 says that neither 13129 nor 77 ' holds that

1192 MM R2% °I% 17 S0 apparently 1 27 also prefers not to say that »
177 they’re P2 on whether 12192 Mm% 822 A in 990 7710

e) On the other hand keep in mind that

i) inthe x°x0 of m12°001 0N PP PR "7 0N 12 77

ii) M»DoIN accepts that it’s only 7717 'Y who says 1192 mima 91 825 7%
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07 7

N Xavw'? pivn "2 n'? n"1n

“10% TMINR ININD WITID RWI2 NI 290 772 09 7''7a [2 7Y v 07]
R2% RND2 MDA RT3 PPAYRRT RIN0 2159 NPT 2wn B''op "o A
RO2779 127397 o0 RRI2 RIWOD 2R 270 PR 2WRIT AR KON b

TP RO RIVOD 21272 12 PR M1 2IWRIT TRORD RINT RITT 1R
1) o"awn

a) 72%1 the 7wwn needs to be 777 2% Nwnw *192 fmn because then we assume that
word of the nxmn will reach ~oww» the porn

b) This is similar to the rule that w2 X1w°% D1wn 72 MY XN2N DR RIARNMT RN 7
meaning if j21x1 tells information about "owws to 7171 % Pwnw any one of the
three can repeat the information to "5ww» without this counting as xw°a X1
because once three heard the information we expect that ~oww> will hear it

anyway
2) moon as explained by x"wann
a) The xm3 in 137y goes further

b) ">y xn%°m 93 also teaches that there is no xwra xaw>H for 32187 to tell this
information to three people because it’s clear that j2187 is in effect prepared to
give this information to noww» directly

3) X"wann

a) Were it not for the & nx in 1°>7 there’d be no &2 from the 17 of Xwa x5 that
1287 the 7vav» could be 'x »192 mia and expect that [oww» the P> will hear

ninN'? "X A" Tn

"o PO RAR AR PR ART R RRPY ORI "0 st s '
N2:77 R399D K97 972975 K2R 29097 apuh %an ®'"'op "1 Ko7 TN KD
99 J1MPY R PV KD ORY DAY OIRTAT MR M0 PYuh ART P
TR MR KDY RN12T RUVDR MRP RIT PPV XD JPOY NP2 anm
W'Y NGB By By "D MWt IMRYY 7N
1) xm
a) A9 mu2 M X
2) o"awn
a) Possible onyv for this 17
i) First possible ayv

57



(1) Otherwise the 1 can say “I bought it from the y7y» after his axmn”
i) Second possible ayv

(1) We expect that a person who hears a nxnn will keep his avw for only three
years after any nxnn

3) mooin

a) For areason not relevant only the second ayv of o"awn is correct
4) nnTpn—KXmxat RS a7

a) The case

1) pun claims that he bought a 77w from 2217 six years ago and proves that in
fact he began his np1i *1w six years ago

il) “yyn has a avw that 25w sold the 7w to the 2yay» four years ago
b) The 7

1) yAwn is 7217 because the sale by 12w four years ago counts as a i that was
made before there was npi "1 nn

i) And it doesn’t matter that 7v7¥» didn’t make a nixnn within three years after
the sale by 1218 to the 2yayn that counted as a nxmn by 1218

5) Twnn of maoin

a) Since only the second oyv of o"aw is correct it’s a Mw w» that the x°x10 here
disagrees with the xx10 on .x% 7 and would hold that the P> is 151 because he’s
17711 to hold his avw for no more than three years after a nxmn

6) X"w1n based on Mxnn Hya

a) But if the first ayv were correct we could explain that the n1xo don’t disagree and
that our & *xy0 would agree that the qy2vn is 11911 because in fact the p>rn didn’t
claim that he bought the 77w from the vy nor do we make this v for him

nqT

N7 X 'REATT

RITY 11D WRT Y9 120D M19DR 3T TR 197 12 BTRNRY 7' 72 [R Ty » 0T
"2 92027 BB 3T TR 1917 T2 1Y Doy "0 9D BY AN wIN2 JINNRT
VW TIT 2R KON PPANID ORI 12N2T AR R TIND 1BDY 1T TR 1912

T9'mY U T 1ANDY AR DRT 12N v

N2'T N X727 [NnX 2" TN

N2 TIADR TODTD PNWHY TDNAD 70 N7 2R N0 NN RHT INBK 772
RO DaR X297 1772 1% [T 277 77277 RNT RVRIPT ROUWH L7 e R oy
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Y9IBRT 'OINT WA RO MWD R KD ROITIDT WYR RIS TNR02AT
T''mY 3192007 RUIWD RIT NN
1) X

a) oY 2M "0

i) 77 DIRP ORT NOPIR R?" DY RO RIT NP ORT KIPT NVY RPT IRDR XX XYTIN 110200 KD
"R3°72 "9 NVaN X7 ORDX

b) X271 »aKk —a Xy7n is written also against a person who’s X177 1%

2) Twnn of the xna at "2 1y

a) °v7Im1say 07y who write a Xy7in must say in the xy7i that xonRa j0v7 K"
"R°1797

b) aoxw
1) ORATRYTID

(1) If the xy7n is for xninmy Xw2a then the Xy7wa is only a Rn°n »19°x because
it’s a °X71 that there’s an actual 018 and it’s a mw>wo that the o>7v don’t
need to write that "X°1957 Xo1R2 17V 7 1IR"

(2) And it can’t be that the Xy7w is for *ar because &2 says that j1°2n3 X
121X Ry TN altogether

C) nawn

1) v7m1 refer to °1°a1 where there is an X0*7797 Awynd 013X where X217 agrees that
XV 12010 — it’s in that case that 0>7v need to write that RXonxa j°v7 JIR"
"R1997

3) mooin as explained by x"wann
a) Nwp

i) In what case do 701> 21 727 say their 17 that n»x 897 18R ROR RYTIM 11200 RO
"R172 P9 NYAN R ORAX T2 0YIRP ORT NOYIR KD DD RAYD RIPT NP0 ORT KT

(1) If the xy7In is for xnanmy Xwa then the Xymn is only a Xn%°m "7 because
it’s a °X7 that there’s an actual 013X and it’s a mw>w» that X¥7n 13°205 also
for X7 n>¥7 18N

(2) And it can’t be that the Xy71 is for 121 because X217 says Xy7a 1amd P
*1°21X altogether

(3) And if the ny7in is for Xo>7197 Awyn *RiI2 it’s a MY w» that Xy7w Pand
even for R1°7 n»x7 RN

b) v n

i) The 17 of Ao 271 721 applies to °17ar and 7o 271 721 disagree with X211 and
say that xy7w 130an3 for *°21 but only for X17 ¥ X7 18n

C) Xwp
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i) The same way that the x7nx for *v7m1 considers all possible forms of xy7in
where it might be necessary for 0>7v to say X°1957 X01R2 Y7 1R — the X
should for 7127 and 71 27 have considered all possible forms of xy7m and
explain in the end that 727 and 7oy 27 who say X927 18K X9R XYT9 13°200 K7
X137 0¥ refer to *1ar7 Xy7wa and disagree with X2

4) X"wan
a) ToRw

i) Does mooinin its final X>wp also mean to ask that the xanx in its nawn should
also have considered whether noy° 271 727 said their 7 for X0° 7797 IWwWYn P

b) nawn

1) No because m»oin has established that it’s a mw ws that for Xo>7797 AWwWyn *X7d
the 17 is that Xv712 73°2n> also for X7 n»3T IR

a7

NN7'n 172 na"1T n"awn

QTIPT 212 7792 1R KDY "D RnbR R 772 a'awnna [2 TRy B nT)
STIONI DI VAT PITYY 712002 MR 9D H''OY 172902 N DY RN 172300
N2ON2 27IP AR PVRR BN W2 DA DN KPR MR 77T 9 YPuad RwS
2192 I RYTIAT IR 7720027 MRT 2D w11 9w o' awn w''nn 1w
B2 2''RT §102Y 2N5W 12T PIDM 1DY WWT NTWH MR ROX RPIT IRD

T9'"mY Y0 NYNRS2 170 WP MR "D

p'and X7 a"T1 0"awn

3D VAR RYTIV MWORT JIMT 1D MRT RINT 29 1770RY 10 10200 RY 7''7a
IRRY ONM VDR RYTIAR aNMT IN2 RINT 29 ART 2N JMK 907 5oy
51927 91927 NTT7 AND TR TMART ORI R RPIRT 20 1D RNUPWK annT
TD02 Y NRINT 299 1D IR RYTIA 0% AN DA RYTIR "0 KD 2N 1M

2Ty AR

NN T

X X "1

=27 INTY QMW 'A IR RDT 11957 10 MR KOW 772 010 [R TR X2 07]
Y2 57127 327107 NT23 ORI 7'M RO OIWRTD 11997 R 3o "D Ban R W
%77 170 9% UPAT PRYARRY PN N2 DR 'DINT w0 R0 11997 By
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TR TP TR MWRIT DIYD 'OINT WO URI IR KT ORIR upIa®
ANSR 2IXININ INWD DOWST 'DINT 9277 D' PAYRARA VPIT R A
"D IV SRY PR TIPIN INYR ROR DOUD RT7IMDN UMD \0wT Ko7 '0N3
BR KPR D UTOR IPV DT M 0 NINT PR RN IV K92 10T
B'R KD AR 197272 DA KD 101 DaR Y0 Daw 1977 2RwR 12T 27N
JINT 12 PYY KD UIIRT RUIWD DT PAYRWA DaR avwn 27 27N
T21YTY 790 101 JANT TRORR RDIN A1 151R2T DR MARP 0 I
1) mwn
a) A mwv any PRY AP isn’t effective
b) 1It’s not enough to say “I’m here because 021¥n 727 7K 2 KR KoV"
2) XM
a) Nwp
1) Xvws that fpin isn’t effective without a mivy
b) y1n
1) X n7Imn

(1) HnRnT 50N AP OPT YT PR PO [M922 17 AR 1P0] 13T 12100 PUIn R
"SNP PR Y DY W KD 1UW TORT

nnj 1
2) "NT7aRY NP CAR MM 027 (MR D 1IWRR') IR T2 PRY 700 N nanml
7°7 701 WS

i) wwn’ "% 31099 RY URT 9P
3) 2 A7 R
a) Nwp
i) 7PN AV AnY PRY ORI YD XOR"
i) "apTn AR 70 TRy PRY AR 20 [17°7 mawna] 1an anoR
4) mooin here
a) Nwp

i) Why is it that the X m3x here says it’s a M ws that [P 7K 7YY "Ry PRY 3PN
and the Xnx at :n2 a7 asks that mavv 72y PRY P11 should count as apm

b) One y1°n of mooIn here

i) The ywpn here asks xv>w» because the 7wpn didn’t realize that there isa m:
X11R that 138 2 1ww1 that the W B2 1R W =27 v

i) The ywpn at :n2 77 realized the concept of 7% % w1 and asked that the
concept should be enough to count as a mivw that makes the 5pi be valid

c) Other ox17°n of Mm»doIn here don’t say that the jwpn at :12 77 relied on 1ax % Py
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5) mooinat :mo A7
a) Nwp

i) How is it that the & n3 at :n2 77 asks that mivw vy PRw apm should count as
TPt

b) v

i) The & nx at :112 77 asks that we ought to say that 7t X7 7w 70y PRY 0P
because "Y» Dmaw o1 19 noRT"

6) X"wann
a) Nwp

i) The & n3x here in the x1pon based on 11x 17 w1 refers only to 15» — but we can
accept that mooin here refers to 77°nn as well as 1on because the xnx here was
VPRI NI TN

ii) But why does maoin at :n> 77 refer only to 7%°m and not to 7°51 that the X ma
mentions here outright

b) v n

i) mooiwn at ;o 77 follows the o°¥171°n of Mmoo at .xn 77 that don’t assume that
the ywpn in our X°210 at .&» 77 asked his xwp of Xv°wo because he wasn’t aware
of the X1nx 7177 of 1R "5 Nvwl

i) and m»oin there answers that the wpn there thought that mvv nny PRw 7P is
a npm — even without the X1nx 737 of 73R % Nwv1 — because 127 °% AR ROV
"09wn means 712°m7 so that the words "a?1wn 227 5% nr ®5w" are in effect a
7w of A nn

iii) but it’s a Mww» that these words don’t mean 77°on
NN 7T

Mmyov X ' n"TN"awn

72 TR 2TV ORT BaR N0 vy XN 772 2'"awnna [2 TRy KRR 07]
TINT D2 RPITT 2OWIDRT NPT MINSD SINNI WYen oy "o TN an
TAR Q10 772 T 977 AR MR JARI MR W7 DA TN 2%° 72 TR 2vTva
"2 DOTIAR IND 7''T2 9D MIDDINT DaN SNI9aT 39 MR YR ONT Jana
o9 19T SO0 INDT MR 207 1190 KUK WMRTY WO RIPOPR ORTIT 1and
15'"mY Do W'Y "D R

See n 7P WY A"n at (o> a7

62



an q71

"N 12 n'odan AT nMawn

B RITT WD ROR STINW AT 19 V12 29003 7'M [N TRy 21 0T
AR ONRT 95772 2N KDY "D 2TV IR DM 2N WD R B'ay "»
ST TR IO WIND PRARI KDY WD MIMIPHY PPV TN 0T
J9''my 512y 3" anan
1) mwn
a) T 12 2°0011 721 0TV 2T DY 1A DR Mo
2) o"awn
a) noRw
i) how can the 21 Sv2 without a qvw be 72 from 17 %12 o°001
b) nawn
i) The m% was 77 that w19 X?
3) X at :Xn A7
a) a1
i) 992737 1287 197 T2 MR NPIRD 22TV 2192 NWARY 'R 7T 12117 7R
i) 272 77w 12 523002 INPINRA PYAY XN PYAWT 'R TTW IR 7213 198

i) 72387797 725 oK 790 NPRD 17 AW WOIR TOORT RIT 1D RPP 10 DD 2077 23 5V OX)
nYInR1a ATY

4) X"wonn —see 1"am
a) Nwp

1) Why doesn’t 2"aw" ask a similar x*wp for the &35 — namely that 17 n°a ought
to be 1w for 1% the second i1 that the 121 had paid mwn to pynw the first
o

i) And here it’s not an answer that the 951 says that he wasn’t ¥y15 to n\wnw
because he has no ninx1 with this ax717 to be 115 77091

T"0 'NI 2" TN

PR Doy "0 PRT MWW ROW IND W2 IND "2 AP 7ONY 71''72 'oIn
TIRF TN 2" 0w RD2 2TV ROT IRT 1RT RORIP ORBY Mwpme
BaR POTIRD AR NI PTIT (NP QITY IR ORTIT 2107 0w w2 K97
A''ITSY POTIAY UOAY RDT SINTTA PR KD K9P 790 99T 1190 29702 1R 0

‘9% 'oIn ans
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:an 7

MmT NIV TID QNIY 2" TN

PRAWRT N1 "D RRDTY PR NTRY "D 70 anw 7''7a [2 Ty an 7]
RPIRT 19 ROWP KD MDY 5'"op "2 RO KRR 09N INWD RaDT "1
799 RPI0D RDITAT ARP 20N INW 172 7RI D 2O N2 TS AW
29 PRI ONIYY PR ONX AR NI 372 STONT AP IR 207 20N INwa
R2ORT 72 ROWP K77 DaR 72107 W9 PRT PPNUNR2 INPT OIN2 9 0N
DAk DIN2 WD 20DNDY PIAR AR AN JVIARWKRD Ko7 RDBR PwT
I RVT ITR 2R WM JIPINWRKRY NI KD R PIVD 11T 29927 INwa

1)

2)

3)

4)

5)

22977 MI2R N2 JIORW I0IIRY

First 7n7pn
a) mwn

i) 7P Y PR PO
Second 7P
a) X at.anng

i) The niwn deals only with max °n2 *0»K — 10X IRWw do have a 7p 17
Third 7P
a) 1P WY AMW "IN YR
R plah!
a) xmw says that *n7 mwna 710 Anw
b) xwp

i) Presumably >xmw means that amw has no P the same as max °na "o

i) How does this fit with the niawn that according to Hxmw says a amw has npm
nvoIN
a) First x°wp to the x°wp of the xna

i) Why doesn’t the X3 answer that

(1) Pxmw means that »»7 mwn2a 772 amw only in the sense that the same as an
0°IR @ oMW IS 2°9N3% ¥ mawa Hun

(2) And this doesn’t affect the separate 1>7 that amw is different from °na o x
max in that anw has a apr while max °na *o>k don’t

i) The precise meaning of o°sn3% ¥>»an naw isn’t relevant to this X"wnn
b) vy 7°n to the first x°wp on the x>wp of the X7
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i) It’s ynwn from the words of Hxww that he’s 08> amw 7 for more than one
17 — presumably also for purposes of 1P — with the result that amw has no
7pin the same as max °n2 "0 X

c) Second x°wp to the xwp of the X ma

1) Maybe the second 17 is in fact a 11°n7 for mpin — but the 11°n7 is with PO™MK Rw
that do have npm

6) X"wann
a) Nwp

i) It’s ynwn from the v of mooin that mooin can ask its second x>wp only after
moon first explains why the X713 doesn’t accept that PX1W is 0°IR? ANW AT
only for o°5n23% voani naw

i) why can’t mo01n ask that maybe Hxvaw is amw 7nT7 to 1Po>R Axw without first
discussing the 11y of o°s5n3% yoani maw

b) y1n

i) Although the &3 at .1» 77 deals with the [pn of 1o>R xw the miwn here
teaches only the 17 for o> X that max °na *o> & have no npm

ii) 2xmw would have taught that anw has the same 17 as o>ax only if the P>y
1°17 IS with max °na >0 that’s dealt with in the mawn

iii) But
(1) once m»oin decides that the main purpose of the X1 of Hxmnw is to be
0OIRY AMw anTa for 00N yoana naw

(2) mooin can accept that the secondary 17 for which there is also a 1117 is
that Po X IRWS 7217 M and both have a P 177

D'ONOY% y'ana nav n'"1n

"2 JTORRR NIN2T MDD BB 2 NN Py "o poanan maw o''Ta
20W ORMR "D 0w D 10N PR R'MAWwN awa aw nanow ann By
5797 TR NP KD N''DDT pRwn "2 noD wt IR aa K97 "D 290012 T
2IPRR 19 Y9DIR 2012 WV 2T RDT RIT RVWIPT 7200 RDINT NUWDT
90 2B NIN2T NID P RHIT RO MR NOWR NP 1D 2N N
WS W NN 2IpR 19 1951w 230210 177 KD N'IDY 1Y KWW n17D2aY
SRT 1APD RN MOSNIR 1 90 2RXY 1910 N''DY Ko7 andRIR pvaY
19 NORT NI9D2 'O MR 2P 19 9B 290210 2% 11D 2R RYPITa
R2P972 N5 0 ROWaNRT ORAY 2''RY MR 2IPRR 10 981D WIARWIND

221971 MY 95T dwan® B "o vy

1) mnpn
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a) o°on3% yoxan maw for >"wa and 0"awn means »o i for example %205 PIRIT 002w
b) o°5n>% ¥ naw for 0" means nw 7 HY RaW 127
2) mwn at .79p 7
a) The case
i) 7287 recognizes "> as a brother but 1ynw doesn’t
b) The 7 when the brothers are to inherit three m7w from their w>n
i) 7mwnw takes one 7w and ¥ of the 7w that would otherwise go to "%
il) 720 takes 1 77w
iii) "> takes %2 77w
c) The 17 when =17 later dies
i) 3287 is war the %2 77w Y% had taken
i) But 217 and pynw share any o°021 that came to »17 from a anx opn
3) Xmxat:op a7
a) Nvax of xan

i) Does "o rn 0021 aww naw" count as nR opnn 0°001 in which pwaw
shares

b) o°v9» of the Xy

i) o9 Rn 0°001 Maww naw can be either o°on>% ¥oan maw or naw that’s not ¥
0°onoY

ii) Ifit’s of the kind that’s 0°5n3% ¥an77 naw the 37°%°Rn 2°021 MWW naw certainly
counts as iR opnn in which nwnw shares

iii) The x>y2°x applies only to the kind of 17°%°&» 0°051 1aww naw that’s not ¥°3»
0°onoY for example 2°9x%1 X72>7— does this kind of o°%°&»n 0°001 maww naw
count as nX pnn 00321 in which Pynw shares

4) X"aw" in Moon — Xwp to *"wn and o"awA
a) PN

i) Since nynw was anyway w1 half of the 77w that »™> would have taken had
1ynw recognized him as an nX — and nynw already enjoys without i the maw
derived from this half a 77w

ii) It’s 7anon that pwaw ought not to share in maw that came without v to 17
from the half a 77w that "> did take

iii) And on the other hand it’s also 1anon that wnw ought to share in naw that
came to "% with nw

b) And as a result
i) For n" it’s understandable that
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(2) mw "y ®HW Mo — except for o°oxY &9 7 — from the Y2 7w that went to »°
doesn’t count as R 2pnn 0°021 and wAY doesn’t share in them

(3) X217 asks his x>v2°x only for 2°5n3% yoxn 1wRw naw of ooKY X9 7
c) But for the 7vw of >"wn and o"awA

i)  When the X113 says 0°5n3% ¥°ani7 naw counts as anx 2ypnn in which pynw
shares — and this maw includes even nmw *7° Sy Xow Xaw 137

i) we have this xwp
(1) Why should pynw share in these m7°»

(2) After all pvnw already has equivalent ma°s from the Y2 77w he didn’t share
with »17

d) yn
i) Although o°5n5% ¥ naw includes also nw > Sy XHW Xaw 727
i) still
(1) Based on a &~ from 722

(2) o°%x1 ®9p>7 — based on a X120 that’s not relevant here — counts as anx opn
and based on this 8120 it’s a 19w 7> that >3 9n3 count as anx 21 even if
70 07 DY ROW RaW

(3) And it’s not a ®°wp why 1wnw shares in these o°021
5) X"awA in moown — "nwp " to the nvw of an a0
a) Nwp to be explained by x"wnnan below
i) For o°5n3% ¥ 11KRW naw
(1) That for an 11°27 means all Mo that aren’t 77w >7° 5Y PR32

(2) Why does the x7n3 give only o°ox1 &2p°7 as an example instead of the
broader category of all Mo that aren’t nw >7> ¥ PR3

6) X"wann
a) Nwp to the xowp of X"awn
i) We’ve explained that for on 1121

(1) It’s understandable that 7w "y 5w M0 don’t count as X opnn and
1Nynw doesn’t share because 1wnw already has m=s from the %2 77w he
didn’t share with "%

(2) And this is why ®21 asks his ®°y2°& only to that kind of ¥ 1»Rw maw
0°5n2% that’s 2781 R9P7

b) v n
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i) The ®xwp to an1°2n is based on the Xipon we just reached from the 17 for 7122
that if 2°9X1 X?p°7 counts as nX 2pnA 0°021 it’s a 19w 93 that 5y Xow waw Mo
7L 7> count as R 23PHK 0°033

i) And it follows that

(1) Since ®an is *van whether o°%81 X%2>7 counts as R 2P 0°021 in which
Nvnaw shares

(2) 1t’s a 12w %3 that the ®°v2x applies also to 1w >7° 5y XKW Waw M7
AN T

[na poy 7 I'x A" T D"awn
uPwa P uwnpT N2 72 poy Y PRI 772 2" awnsa [X Ty an 0T
RAR A1 N RAWST PR DOy RO KD MIN2 PONR RP RDY 17T
2P KON TR STINRD ORI TORIOT 00 PONR RP RDY 17 upwa e
M2 W'AD AT UER IR PIPAT JPINWK RNI2TT 9D 10 NINT
RN12797 77207 IS DR 3T RITY RDT 7295 R2OK 01 KA DRI 1 2R
TP'1ITY 1T PR 1T 12 POV 1R PR IDRT N7 NP

1) mwn

a) 'xamw can be an m7y for '2 Anw against a 7wvn
2) X

a) Nwp

i) 'R amw is a vau because '} Anw doesn’t want the 2yyn to take the o°oo1 that
'R oMWY owns Manmwa with 'a anw

b) y1n
i) The mwn deals with where 'k amw told 'a amw that "7 77w %9 02927 P79 PR
3) X
a) Nwp
i) axn»2says that "0120 R R? 72 POy 2 PRI T ATW DY 00 PR 0027 17 IR
b) v

i) The case in the xx involves a 1°1p and that’s why we don’t say that =& X
ahipls

4) o"awn
a) 'R oW

i) ™% pR"also means "% &> ®>" — “I will not have an interest in it”
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i) This format doesn’t work because it’s read as “I wish that I didn’t have an
interest in it” — this isn’t a W% of actual giving

b) "anvw

i) ™% X" doesn’t mean °7 X X7 because if he meant or said "% x> X5" these
words would have been effective and we wouldn’t say that the amw meant
only a wish

C) Nwpto'anww

i) The 1¥7n could have explained that in our X3 the anw meant "% x> 85" and
no 1p is needed

5) X"wann
a) Nwp

i) For 'k nvw for which *% &> X% isn’t effective we could have asked a similar
Xowp

(1) Instead of *% & and *% x> X7 for which a 11p is needed why didn’t the X3
use a direct 7ann WY that doesn’t need a 7°3p

(2) And it must be that o"awn doesn’t ask this &>wp because o"awn accepts that
the xmx wants to teach that if there’s a 7°3p there needn’t be a direct N9
mann

ii) then
(1) why doesn’t 2"2w" use the same 72:n to explain also for 'a nvw that

although *% x> X% works without a 13 the xna prefers to teach that works
with a 11p there needn’t be a 1w of *% &> X% or a direct 7ann P>

I770'"71 A" T D"awN

S By "D IR N B N''R2 1" AR DR 1A TAID "D PR 7'
17900 ARY T2 TN R''OW 73R SININ TAID 1R 1907 0 1w RS n''oaY
197 NOMR IN STAIN NIIPR RN KD RAWT N0 PITD 25 770 KD 1972 Bhpn
9277 FIRTID DT RIT PR PIAD 9I0D TR 7O 92 2927 TN NaT boa

T my 3" an Y " anNT ATy 2

N120NI "1

B"xo By "> n'"ea 1" [ROR] (B''R) 9o "D RNaem A7 a''a 'on
(9'my 2" awnps RPY PnnT 2T ot B

AN q7T

"7 A A" T nIvoIn
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"2 29%pan YRR NER NRY 0 00 M mRT a''Ta [2 Ty an 7]
TINWT PIAINTT INAR 077 WPRY 27T T Doy N0 7N avhyaT
B1'RT 99772 2" Y A1 1790 JIMARIAT RO NIDDINT INI2IR W' IR RWRIY P

H"PY N5 21 o Mew

"7 NXT 12D A" T nIvoIn

N2 ST SO0 MORT A2 IRT 70 RPOyRT B'RY 10 MONRT 10 ''7a
27927 2oy "2 73T ATVTR PYYY N0 9TI0 TR NOR DIAIT PRy
N7 RPIPIA 7T 7Y DI0EY K2 AN TOUITY WA X2 77 DY 2''RT 29N
B 1INIAR DWT T 7YY TR N7 2" Y 72T TNTMRT PYUR DI NN
1 0RR K'Y 9192 191D TR TN DY TR Raw NI anI 77197 77
737727 23 DY ORI D TI2 YRR TN IMITYR KDWY 170 NRN YRhpT
792 TRAPIRY 25T ORI TN 71217 PYYY ORI IR T9ORT 17190 NORT OTI0
TNIN 779N % TR ' DaR TR INS IR TII0 WIITT WER »''n e
IR RONRT I2 PR K'Y RITT MWD WY RIOR N7 T B0 whpb
T''DT WORY NP T2 YRR TRV INITYR ROWTY 7127 STNTMAT YUY AP
DRI IRIRITY MY DY 7OUT 1ORD BT TR ARI DR 17 KD ORT
21T PR D TR TIRYRR KDY WNPIR TN
1) First nnTpn - k2
a) The case
i) 32387 was o1 a 7w from pwnw and sold it to »?
i) 77 is awawn and claims the 77w is his
iii) nynw the 511 wants to be 7yn for ">
b) The 1

i) 7wnw the ma1is a vy and can’t be 1vn in favor of "% because nynw prefers
later to deal with "% instead of with 777> the qvayn

2) Second nTpn — XMWY X9PW in the X
a) Nwp

i)  Why is pynw a ya because nwnw prefers later to deal with "7 instead of with
a7 the Ayawn

i) The m7y that ynw uses for "> to be 191 against 777 is the same m7y that
1w will in the end use to be 1707 against ">

b) y1n of XK nowa oKy
(1) pynw and 7750 have o7y that are 71 nx 77 Pwonon
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(2) 72 has no o7y other than ny»w and another v
il) Mynw the Hmais a yan

(1) Because he prefers that »17 be 17211 against 77

(2) Since

(@) if a7 is 101 he’ll be prmin in the 77w when later the o°7y of pw»w and
the o>7v of 77 will be 1 nR 71 PYonon

(b) while if »% is 7017 and in the end 1wnw challenges "2 then nwaw will be
71911 because 17 has no a>7v that are w°non the n17v of Nwnw and the
other 7v who’s 7°yn together with nynw

3) mooin
a) Nwp
i) Even the jwpn must have known that 1w and n7i both have ooy
(1) Because
(@) if pynw has no 07y why would we think that he’s a 51
(b) and if 777> has no o>7v how is he 2y against "7

il) so the ywpn should himself have realized that nw»w is a vanu to see to it that 17
IS 11011 as we’ve explained

b) y1vnof ah PR
i) Jwpn thought that
(1) The %117y and the avayn >7v aren’t 771 DR 71 PWORON
(2) instead
(@) 17 has o7y that the 77w was 1»max Hw
(b) nynw says that he bought the 77w from 7717 and pwaw has apin 1w 7y
ii) It follows that jwpn
(1) understood why nynw and 777> both have miyy

(2) and thought that wnw isn’t a ¥an to see to it that »%> wins because pwaw >y
on 11 *1w would in the end prevail against 7777 since there are no o>y
that are woron the pmn »aw >7v of Nvnw

iii) it’s only the %70 who says nv»w and 7797 have o7y that are 71 nX 77 Pwonon
4) X"wan
a) X°wp to the y1on of 1% Py
i) How did the ywpn» understand the m7y that 1wnw now wants to give for ">

ii) it obviously can’t be that nwnw wants to be 7y» in favor of "% that the 77w
never belonged to »max of 77 — because this m7v would also destroy the
rights of nvnw who claims he bought the 77w from a7
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b) possible y12°n
i) This is what the jwpn thought

(1) nvnw wants to be 7vn that 777> was 7% to wnw and a second 7v that
7770 sold the 17w to someone so that 770 has no further rights in the n7w
and can’t claim against "2

c) xwp to the possible y17°n

i) Since the yy7°n of 1% X1 by mooin says that 1wnw is 131 that he bought the
77w from 77 and that wnaw has aprm 7y

i) Why does nvnw need to be 7y in favor of »12 when nwnw can rely on his >y
TP Y

d) 2w to the yrn

i) The case deals with were the 7P "2 *7v aren’t available when 7777 is Qv wn
but nwnw is confident that they’ll be available later and that’s why 1wnw isn’t a
¥ in the m7y he says now for 1%

5) Twnn of X"wann
a) Nwp to mooin

1)  Why doesn’t m»poin explain more simply that the ywp»n assumed that nw»aw the
511 isn’t a v because jwpn assumes that

(1) nvnw says he bought the 77w from 7717 the 7vay»n and he now wants to be
7°yn with another 7v that he himself —nwnw — had nprmn s

(2) this m7y doesn’t help Nw»w because he’s a ¥au to himself but it does
support "7 against 777 by proving that 777 has no mavw to the n7w

(3) And 1ynw expects that in the future he’ll be 7217 against »12 when 1w >7v
7P arrive who aren’t ¥an

b) v

i) 7wnw counts as a yau because it’s through his claimed m>ya that "% would be
a7

N QT

p'wini 2T n"awn

R2PIDY MRPT ORI 10 DR 209 JwpR 772 2" awnna [R TRy T 7]
2'"'Y 12 I9TA2 RPPIDY DIYD MMRPT N7 321 9oy 10 (0% NP R7T "D M2
RI77 RAPIND 927 KD 7779 197327 "12 KDV 23KR) 975 9195 KON RP1T IND

T '™y 3 anTT WITINA RAT I9Y 01 NP

1) First nn7pn — xw of the &n»»1a that was explained in the prior 1127
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2)

3)

a) The case

i) 727 was 2na a 77w from nynw and was 15w the 77w to 17
i) 77 is avawn and claims the 77w is his
iii) nwnw the 1a1 wants to be 1y in support of "%

b) The 7 as explained by the & na

i) 7wnaw is a a1 and can’t be Ty in favor of "2 because he prefers later to deal
with % instead of nm

Second 7n7pT — RN*™127 XD°D

a)

b)

The case

i) 72187 was ona a 719 from pynw and sold it to ">

i) 7wnw was wx»n

iii) 77 claims the 799 belongs to himself and not to "

iv) nynw wants to be 1y for "%

The 17

1) 7wawisn’ta yan

i) Because
(1) once nynw is yn for »% he won’t be able to recover the 715 from "%
(2) Because of the wx» of nwaw and the mw »w from 32187 to "

X722

a)

b)

Xwp to the Xp°0
i) Although nwnaw was wx>n1 and he won’t be able to recover the 779 from "

i) He wasn’t wx»n1 from being able to recover the 775 °n7 that »1 paid to the 171
instead of to the 5

iii) so why doesn’t he count as a ¥a11 in proving that the 2v1v» doesn’t own the
b

71N

i) 121 and a 913 can’t recover from 1213 oan°
Xowp

i) Inthe xw™

(1) "y 1oma Rw? eI — say that the xw» of the &n»92 deals with where
MNynw wants to be v against 777 in favor of 1218 instead of in favor of
a i, from 12189

(2) You’d have the same 77¥°31 because it’s possible that 1wnw prefers in the
end to take the 7w from 32187 than from am7
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d) The yy°n of the X3 isn’t relevant to this X"wann
e) Nwp
i) Inthe x50

(1) "wra ’pPIN" — once we’ve established that the X9°0 deals with where nn
o1

(2) Why do we need to rely on 77°on to explain why nwiaw isn’t a 211 because
of mwn " 1w by 7701 to the np1? and IR

(3) When even without 77001 there is a mwn »1w to the way
4) o"awn
a) The xn»1aitself says "1om" in the x5°0
b) So actually
i) the xwp is why the xn92 said 2om
i1) Rather than on how the x=23 interprets the xn>12
iii) So "wavra oy — which is yawn that the X>wp is to the X3 — is XP17 1KY
5) x"wann
a) The same x17 X7 applies to the earlier x*wp on the xw> of 17132 7™M
b) Because the xw of the &n»92 also says there was a 77751

NINY 12 2T XX AN

RNYM27 RWM2 D''op "D RPIT RN02 921 "D P27 KOX 772 "o
RPITT 9% 19 RIOIT ROR DIIAN2 KPR NP RN120T7 20D 31981 0l
T'"'mY RDID 21N YRl

- TN Q7T

1ONa 2wnl AT 0" avwn

TYNYR "D T B2 ARTIT "D ona 1wny A 2" awnna [2 Ty T 7]
DY I IT KD A1 WA W naR oTYa Do "D TYa 1799 IPIDRY pa
792 79 PRUTR 7WRT MKRPT KPR 297V "M 1T BYa nRTIIT 00
BDIDR DM NITY DD 2IPR 2ITYA RYN IPIDRD N2 KD Wwnae npen
YRR N2 ORI T2 DR NIRRT IR 272 YA KRNI PRI WAwRT Ty
DRI 797 AR 23 TR IT 272 YA N 10 MMIRW ARIRT 23 19Y I NN
NI 77 YD IR O DM MW 2192 TO0DM 17197 KD 1R N2 TINY

1™
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1) xn»Ma

2)

3)

4)

a)
b)

If a 701 sells a 7o to a P> without n1anx for loss to a 211 Hv2 of the 101
The 701 isn’t a ¥211 when he is 7v» in favor of his np2 against a qvayn

L qlab)

a)

b)

Xowp

i) Even if a 77o0n is nranxa Row against a 21 %y the 10w is still responsible to
n17 if the property was m9m

i) So the 7o of the 719 is a vanu to see to it that avawn isn’t 7017
v17°n as explained by o"awA

i) The np17 is 77 that the 719 had belonged to 221 and wasn’t 7913
ii) So that the 1o knows he’ll never have to pay n12 if the 211 wins

n"awA

a)

b)

Xowp

i) What about the o>7v that av1v» brings who say that the 779 is 771
'aRb

i) The 25w proves with his m7y that the 2yyn >7v are "oy W o™ pw”

X"wAnn

a)

b)

Part 1
1) xwp
(1) What difference does it make which o°7y are apwn

(2) Once 7 is 77n that the 719 belonged to the 121 and wasn’t 77173
the nP1% can’t be 7211 from 2o even if the avayn 7y aren’t Apwn

i) v
(1) You’re right that % can’t recover against 127 anyway

(2) But the 75w >7v are still necessary to prove that 2y yn >7v are W o pwn
o' because otherwise avavn will take the 719 from the >

Part 2
i) Xwp

(1) Maybe 12 is using a false nx7i1 in favor of the 25w to enable 25w
without 13731 to be 7°v» against 2yy» in order for n?1> to keep the 719

i) v
(1) m»% has no interest in making a false 7x717 to support his 251
(2) When he could just as well not have made the and recovered against 111
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